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Question Number : 1 Question Id : 54062616704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dhanteras is celebrated on the lunar day of Krishna Paksha (dark fortnight) in the Hindu calendar month of Ashwin.
Options :

1. ¥ thirteenth

2. % tenth

3. * ninth

4. *# eleventh

Question Number : 1 Question Id : 54062616704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YRy fgg e & i WM H P Ugf (SiERT ywars)) & % feau WA A 8|
Options :

1. ¢ oRgdi

2. % gqdi

3. % Srai

4. % YRgdl

Question Number : 2 Question Id : 54062616705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following pairs of dance form and the state with which it is associated is incorrect?
Options :

1. # Khanatm-Mizoram

2. % Kalbelia-Rajasthan

3. ¥ Brita-Odisha

4. ® Laho-Meghalaya

Question Number : 2 Question Id : 54062616705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 S1H-91 T TU iR T S 98 SS1 8311 SUS! Sie! 7Tad /2
Options :

1. % WFE-TERE

2. % PHIASAI-ITSRIA

3. ¢ foar-siifsam

4. % WTGI-HYTeY

Question Number : 3 Question Id : 54062616706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The famous Thillai Natarajah Temple is located in which of the following states?



Options :

1. # Karnataka
2. # Gujarat

3. % Kerala

4. % Tamil Nadu

Question Number : 3 Question Id : 54062616706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed 7 9 ford o & Ul Rietrs Texre! wfer Rid &2
Options :

1. % PCH

2. #® I[SRId

3. % B

4.« QA TG

Question Number : 4 Question Id : 54062616707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After deducting the depreciation charges of plant and machinery from Gross Domestic Product, we get

Options :

1. # Gross National Product
2. # Net National Product
3. % Net Domestic Product

4. % National Income

Question Number : 4 Question Id : 54062616707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qH TR IS T I 3R AR & Yeug™ e &l U & d1G, 4 T B 8|

Options :




Question Number : 5 Question Id : 54062616708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, Operation Green Scheme will be enlarged to include perishable products.
Options :

1. # 18

2.9 22

3.% 24

4, % 28

Question Number : 5 Question Id : 54062616708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 H §oIc H &1 T3 GIV0T 3R, TR FH T 1F Bi faTRreiia Sarel &1 AT H & e S Sme|
Options :

1. % 18

2.9 22

3.% 24

4, % 28

Question Number : 6 Question Id : 54062616709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

states that when a body is partially or totally immersed in a fluid, it experiences an upward thrust equal to the weight of the fluid
displaced by it that i.e. its apparent loss of weight is equal to the weight of liquid displaced.

Options :
1. # Ohm's Law




2. ¥ Archimedes' Principle
3. ¥ Hubble's Law

4. % Coulomb’s Law

Question Number : 6 Question Id : 54062616709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & fob o1 Uoh 31 aq fordt wa & Ot aryar 3iiflies U 9§ gals Sl §, Y 310+ gRT fai1fid §d & YR & sRIeR
I 9 BT 3THT T § Ui 3T SMURI HH g gRT faRA1fid 9 & HR & SRR gidil 8|

Options :

1. % 39 &7 g9

2. ¥ JATHTHSIS RIGd

3. % g9d &I 99

4. % pag-Aag

Question Number : 7 Question Id : 54062616710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Invar is an alloy that is made up of
Options :

1. # nickel and gold

2. # iron and gold

3. * iron and silver

4. % iron and nickel

Question Number : 7 Question Id : 54062616710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR g g S BRG]

Options :

1. % o 3R AT



2. % SIgT 3R I
3. % oigT 3R Ald
4. ¢ AT 3R Apa

Question Number : 8 Question Id : 54062616711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India shares the longest boundary with which of the following countries?
Options :

1. ¥ Bangladesh

2. % China

3. % Bhutan

4. ¥ Nepal

Question Number : 8 Question Id : 54062616711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yRe FrgRad & R 31 3 T T i A i el &2
Options :

1. ¢ SRQACR

2. % T

3. % Y

4. % U7

Question Number : 9 Question Id : 54062616712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following mountain ranges is also known as Krishnagiri range?
Options :

1. % Zanskar

2. % Karakoram



3. # Ladakh
4. % Western Ghats

Question Number : 9 Question Id : 54062616712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad o ¥ fg gdaarer & il Suft & 91 2 off ST o 82
Options :

1. ® SRR

2. ¥ BRIGRA

3. % deld

4, % giyH g1e

Question Number : 10 Question Id : 54062616713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following systems is also known as 'Permanent Settlement System'?
Options :

1. ¥ Zamindari System

2. % Ryotwari System

3. ¥ Mabhalwari System

4. % Taluqdari System

Question Number : 10 Question Id : 54062616713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg aw &1 R deieRd aT & U H Y S Il /2
Options :

1. ¢ SHIGRT STa’IT

2. % YAATS] TaRIT

3. % UgdaR] Fa®T




4. % ATIhCR] HIRIT

Question Number : 11 Question Id : 54062616714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did Cripps Commission visit India?
Options :
1. % 1932
2. % 1951
3. % 1938
4.+ 1942

Question Number : 11 Question Id : 54062616714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foP o SITRINT YR e 37T T2

Options :

1. % 1932

2. % 1951

3. % 1938

4.+ 1942

Question Number : 12 Question Id : 54062616715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has been awarded the "International Invincible Gold Medal" for 2021?
Options :

1. ¥ Ramesh Pokhriyal Nishank

2. % Rajnath Singh

3. ¥ Subrahmanyam Jaishankar

4. % Nirmala Sitharaman



Question Number : 12 Question Id : 54062616715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofoRed 7 9 fpd 2021 & o »SieRTgT o vl uge & FTHd o T g2
Options :

1. ¢ Y grafard e

2. % oY 35

3. % JSIIUTH SARIDR

4. % e FdRmA

Question Number : 13 Question Id : 54062616716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following pairs of book and author is incorrect?
Options :

1. # The Broken Wing: Songs of Love, Death & Destiny - Sarojini Naidu
2. % Coolie - Mulk Raj Anand

3. ¥ A Suitable Boy - Leo Tolstoy

4. % A Better India: A Better World - Narayana Murthy

Question Number : 13 Question Id : 54062616716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeied & @ &1 91 Jid® 3R s &1 3 TTed 82
Options :

1. % g sl fdT: 979 3% da, Y Ts SReAt - TRIFSHT Arrg
2. % il - GohRIol 3G

3. ¢ 3 YTl §19 - ofd A

4. % 3 e ST 3 YR Tea- ARV

Question Number : 14 Question Id : 54062616717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states launched the 'HIT Covid App' to ensure regular monitoring, tracking of home isolated patients in May 2021?
Options :

1. % Kerala

2. % West Bengal

3. ¥ Mabharashtra

4. ¥ Bihar

Question Number : 14 Question Id : 54062616717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed & 3 forg oa A 15 2021 T §H S9cics BRISl &t Hafid MR, o1 gRfEa & & fae 'HiT Hifds To af feam
Options :

1. % R

2. % OfYH §Ie

3. % TERIY

4. ¢ fo8R

Question Number : 15 Question Id : 54062616718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR AT d AFeRAT SiteddR U9 3R TRa Siffthar AT T GR122 T%, 2021 BT Al-d fova T 4T
Options :

1. % 3fffrd A8

2. ¢ &5 Rig IR

3. % 3fd YhR GG

4. % IR SaoH

Question Number : 15 Question Id : 54062616718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
National Mobile Monitoring Software (NMMS) app and Area officer monitoring App was launched by on May 22, 2021.

Options :

1. ¥ Amit Shah

2. % Narendra Singh Tomar
3. #* Ravi Shankar Prasad
4. % Prakash Javadekar

Question Number : 16 Question Id : 54062616719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
announced the construction of the largest international submarine cable system centred in India in May 2021.

Options :

1. ¥ Reliance Jio
2. % Airtel

3. % Amazon

4. # Flipkart

Question Number : 16 Question Id : 54062616719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A7 2021 B YRA H Hiad 98 91 SIqRPII UAgssl dhedd YuiTel! & {01 o1 iwon |
Options :

1. ¢ T forl

2. % QRS

3. % QAN

4. % foRIgeBTC

Question Number : 17 Question Id : 54062616720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Constitutional Amendment inserted Article 21A in the Indian Constitution which states: “The State shall provide free and



compulsory education to all children of 6 to 14 years in such manner as the State, may by law determine."
Options :

1. % 82nd

2. % 9lst

3. % 78th

4. ¥ 86th

Question Number : 17 Question Id : 54062616720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e F=Me 7 URATT AU H srfwse 21A S M forar ford S8 T 6: /T4, 6 9 14 a8 & i =i bl g Rg ¥
qud 3R e e Ter e S i 3wy, S gRy Fefia s gearg 1

Options :
1. % 82d
2. % 91d
3. % 789
4. ¥ 86d

Question Number : 18 Question Id : 54062616721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the oldest High Court in India?
Options :

1. ¥ Calcutta High Court

2. % Bombay High Court

3. % Allahabad High Court

4. % Delhi High Court

Question Number : 18 Question Id : 54062616721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 &1 YR &1 9e9 AT I T g2




Options :

1. ¢ HAHAl I IATad
2. % §id I ATy

3. ® gdleldlic 3= UgTeid
4. % focql = gay

Question Number : 19 Question Id : 54062616722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is all set to host “2022 FIFA under-17 Women’s World Cup” from October 11 to 30, 2022.
Options :
1. % Peru
2. # Brazil
3. % Ttaly
4. ¥ India

Question Number : 19 Question Id : 54062616722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
11 30 AR, 2022 TP "2022 HIHT 3HS3-17 ARG [y HU" Bt BTG = & [T T aRE IR 5|

Options :
1. % U=
2. % ol
3. % gt

4.« YRd

Question Number : 20 Question Id : 54062616723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following cricket stadiums is not located in United Kingdom?
Options :



1. # Lords Cricket Ground
2. % The Oval

3. ¥ Kingsmead Stadium
4. ¥ Sophia Gardens

Question Number : 20 Question Id : 54062616723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafea & @ @ a1 fhde Rfgaw gages fHmea & fRua T2 8y

Options :
1. % dlgy fhore UGS
2. % g 3flad
3. ¢ fhatis wfean
4. % Qifta1 S
General Ability
Group Number : 2
Group Id : 540626589
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability
Section Id : 540626769

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626925
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062616724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

NVE, LWH, JXK,
Options :
1. ® GZO
2. % FXO
3. % IYM
4. ¥ HYN

Question Number : 21 Question Id : 54062616724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafaiRad s1&R §ad & R B

NVE, LWH, JXK,
Options :
1. ® GZO
2. % FXO
3. % IYM
4. ¥ HYN



Question Number : 22 Question Id : 54062616725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the following words in a logical and meaningful order.
1. Book

2. Cut

3. Tree

4. Print

5. Paper

Options :

1.93,2,5,4,1
2. % 3,5,1,4,2
3.% 1,4,5,3,2
4. % 1,3,5,4,2

Question Number : 22 Question Id : 54062616725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafiad 2rsal &1 difdhas 3R iUl HH § Frafyd &1 |
1. Y

2. PplcHl

3.3¢

4. 34T

5. PN
Options :
1.93,2,5,4,1
2.% 3,5,1,4,2
3.% 1,4,5,3,2
4. % 1,3,5,4,2

Question Number : 23 Question Id : 54062616726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % NQT
2. % CFI
3. % JMP
4. ¥ VXZ

Question Number : 23 Question Id : 54062616726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu mu fowedl A @ & e Rfd % T THH 81 gTaiTP, T [y 3/ diF o1 oRE Tl ¢ | 39 fahed o1 I8 &Y oY 30 ¥ 3T B |
Options :

1. ® NQT

2. % CFI

3. % JMP

4. ¥ VXZ

Question Number : 24 Question Id : 54062616727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Lavender
2. % Orchid
3. % Violet

4. ® Tulip

Question Number : 24 Question Id : 54062616727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

feu Tt fowedl A @ & e Rfd % T THH B 1 gTdiTd, T faed 3/ diF o1 oRE Tl ¢ | 39 fached o1 I8 &Y oY 30 ¥ 3T B |
Options :

1. % ofdex

2. % 3fifbs

3. ¢ ST

4. % HfeU

Question Number : 25 Question Id : 54062616728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

TIME : VOKG :: WORK : ?
Options :

1. # TYQM

2. ¥ YUPM

3. % XPSL

4. % ORKW

Question Number : 25 Question Id : 54062616728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAdHeT T 997 B S ik UG ¥ 391 UHR ¥ Yafdd g fo TR ¥ 3R UG Ugd Ug ¥ Haifed g

TIME : VOKG :: WORK : ?
Options :

1. % TYQM

2. ¥ YUPM

3. % XPSL

4. % ORKW




Question Number : 26 Question Id : 54062616729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Bees : Hum :: Snake : ?
Options :
1. ¥ Hiss
2. * Hoot
3. # Roar

4. = Talk

Question Number : 26 Question Id : 54062616729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed &1 997 B S AR UG ¥ 341 UHR ¥ Yefdd g fo UR ¥ ORI UG Ugd Ug ¥ Hafed g
1:[?:[J:I'mtﬂw:‘:Jfl":]f'l'l_ef?f::ﬂfqz?

Options :

1. ¥ PhhRR
2. % 8¢

3. % oA

4. % qadid

Question Number : 27 Question Id : 54062616730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain language, 'STATE' is written as '65'. In that code language how will 'CHILD' be written?
Options :

1. % 40

2. %25

3. ¥ 36

4. % 49



Question Number : 27 Question Id : 54062616730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T3 T & 'STATE' &1 '65' foran 71 5 | S hls UTST H 'CHILD' T oy forar S
Options :

1. # 40

2. % 25

3.9 36

4. % 49

Question Number : 28 Question Id : 54062616731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language,

1) 'frock data girl' stands for 'ge fv sa'.
i1) 'sheep rick frock' stands for 'du sa vk'.
111) 'rick data saw' stands for 'du te ge'.

Which letter code stands for 'girl'?
Options :

1. * ge

2.9 fv

3. % sa

4. % du

Question Number : 28 Question Id : 54062616731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (Aigd ois U A,
i) 'frock data girl' T 3{?‘]:% 'ge fv sa'.
ii) 'sheep rick frock' T 3 2§ 'du sa vk'.



iii) 'rick data saw' bT 3 48 'dute ge'.
?‘h'girl‘ & foIu ©F 1 31eR BIs B2
Options :

1. % ge

2.9 fv

3. % sa

4. % du

Question Number : 29 Question Id : 54062616732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If H is the daughter of R who is the father of S who is the son of T who is the daughter of N, then how is H related to N?
Options :

1. # Niece

2. % Daughter-in-law

3. # Daughter

4. ¥ Maternal granddaughter

Question Number : 29 Question Id : 54062616732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IREH,RBIEHE, NS HAR, N TH TS, TN DT ], O H, N I Y Taiferd g2
Options :

1. % Yot

2. % dg

3. % A

4. Il

Question Number : 30 Question Id : 54062616733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following information carefully and answer the question given below:



1. Vasu is heavier than Kiran but not as heavy as Ramesh.
2. Karishma is not the lightest.

3. Manu is heavier than Ramesh.

4. Vasu is heavier than Karishma.

Who is the second lightest among the following?
Options :

1. * Ramesh

2. % Vasu

3. % Kiran

4. « Karishma

Question Number : 30 Question Id : 54062616733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed YE1 & @F J Ug ok e iy T uy 1 IR <
1. I fpRur § 4Rt B AfeeT 30w 1 Ui et B

2. BT T ebl TeT 8

3. T, TR YR

4. 9 HRIATY YR B

frafoied # 9 g1 9ad bl 1 82

Options :

1. % I\

2. % 91g
3. % four
4, ¢ HIRNTAT

Question Number : 31 Question Id : 54062616734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given, followed by two arguments numbered I and II. Analyse the two arguments together and determine
which of them follows:



Statement:

Should the heads of different religions together form a global religion by scrapping all existing religions?
Arguments:

I. No, it is very difficult as it is a question of faith and faith is irrational.

II. Yes, people will stop fighting in the name of religion.

Options :

1. ¥ Only argument I is strong.
2. % Only argument II is strong.
3. ¥ Both I and II are strong.

4. % Neither I nor II is strong.

Question Number : 31 Question Id : 54062616734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 Uy H TP By faan a3, fords 916 &1 dob 1 3R 11 faT T § 1 & bl o7 Teb a1 faetoor i IR Feifd &3 fos STH A i 41
3R T &

HhY:
gﬁwﬁ%u@ﬁﬂﬁﬁwﬁﬁwmmﬁmﬁﬁmmm@?
L. 7Y, 8 Sgd 1o 2 T T8 AR BT I B 3R SR aHET B

I1. B, AN 4 & 10 R dS1 &G B |

Options :

1. % Had dd [ Holgd ¢ |

2. % Had dP [ Aogd o |

3. ¥ 18R 11 aH ASgd & |

4. % F13RAE 11 AET 3

Question Number : 32 Question Id : 54062616735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be

at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.
Statement:



The world of tennis has been shaken by allegations of match-fixing, especially when the world's number one player came out with a story about
being offered money to lose a match when he was an upcoming player.

Conclusions:

I. Tennis authorities must take strict actions to protect the integrity of the sport.

II. The world's number one player did not involve himself in match-fixing.

Options :

1. ¥ Only I follows.

2. % Only II follows.

3. % Both I and II follow.

4. % Neither I nor II follows.

Question Number : 32 Question Id : 54062616735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H, U Y fear mar 3, forgss a1 3l fAse 1 3R 11 fRu U 1 31Ut U &Y I AT 8, Hd 81 I8 JrHId: I1d 9 § e uefid
gl 3ueh! fuia o | 6 3w e feerst & @ &9 w1, afe 18 8), FU § ¥ SrRU Rl g |

hY:
g @ g T fefai & SRt 3 fid gt €, T Oid g1 & R U faare! 3 89 8R4 & forg 39 0% fou oM 1 et
I, old g T SNTH! RISt Tl

1. O BT SREST B! & P oY ¢ TSR B T HIRATS B! ATy |
I1. g & AR T Faare! A Wd &1 T fOsfad & =it =& forar|
Options :

1. ¥ HId | TR FRAT & |

2. % Had I IRV HRAT & |

3. % 1 3R 11 G AR HRd 5|

4. % 1RGN II SR IR G|

Question Number : 33 Question Id : 54062616736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad g &1 R

0, 11, 33, 66, 110, ?



Options :
1. % 122
2. % 133
3. % 145
4. ¥ 165

Question Number : 33 Question Id : 54062616736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following series:
0, 11, 33, 66, 110, ?

Options :
1. % 122
2. % 133
3. % 145
4. ¥ 165

Question Number : 34 Question Id : 54062616737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
23:6::42:7

Options :

1. %3

2.9 8

3. % 18

4. % 21

Question Number : 34 Question Id : 54062616737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhed BT 997 B S AR UG ¥ 34T UHR ¥ Yefid g fo UR ¥ R UG Ugd Ug ¥ Haifed g




23:6::42:7
Options :

1. %3
2.¥°8

3. % 18
4. % 21

Question Number : 35 Question Id : 54062616738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between Lady, Doctor and People?
Options :

1. %

2. %



&
S

Question Number : 35 Question Id : 54062616738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofiRed # 3 o1 91 9 s wfga, fafra® iR ATl & o & Yay &I Gay =91 axIdl g2

Options :



4. ¢

Question Number : 36 Question Id : 54062616739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following Venn Diagram, the square represents girls, the circle represents singers, the Pentagon represents South Indians and the rectangle

represents graduates. The number given in the diagram represents the member of persons of that particular category.
How many South Indian girls are singers but are not graduates?

Options :
1. % 25
2. %15
3. % 16
4.9 12

Question Number : 36 Question Id : 54062616739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frgfefad a7 sma ¥, ot asfeal o1 ufaffica orar 8, 90 Tt o1 ufafaftia & 8, day gfér yrRda! o1 ufafAfia #arg sik
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Options :
1. % 25
2. % 15
3. % 16
4.9 12

Question Number : 37 Question Id : 54062616740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

= || =

Options :

5 K
<

1. ¥




7
2. %

2 K
3. %
4, %

Question Number : 37 Question Id : 54062616740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgfafad # 9 & O 3R e Uy &1 G B IR B 82
2 || L x| K B | § K
p A 2 S B A B I G

Options :



2
<
1. ¢
7
2. %
> <
3. %
P
4. %

Question Number : 38 Question Id : 54062616741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.
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Question Number : 38 Question Id : 54062616741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 39 Question Id : 54062616742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Count the number of squares in the given figure.

Options :
1.¥6
2. % 8
3.% 4
4, %7

Question Number : 39 Question Id : 54062616742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 71 iepfar 7 il @) T B MU B |



Options :
1.¥6
2. %8
3. % 4
4. % 7

Question Number : 40 Question Id : 54062616743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :




3.

Question Number : 40 Question Id : 54062616743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR 3BT H F, I 3ApTal T Tg B oG Uy 3pfal i afaRd g1

Options :



3. ¢

Arithmetic Ability

Group Number : 3
Group Id : 540626590



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 540626770
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626926
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062616744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the smallest number which when increased by 8 is completely divisible by 12, 18 and 24?
Options :

1. ® 60

2. ¥ 64

3. % 72

4. % 100



Question Number : 41 Question Id : 54062616744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BIC T B A | o 8 Y FgM W 12, 18 3R 24 T gufa: fauifora gt 82
Options :

1. ® 60

2. ¥ 64

3. % 72

4. % 100

Question Number : 42 Question Id : 54062616745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the binary conversion of the cube root of the square of 64.
Options :

1. %* 1000

2. % 11000

3. % 10000

4. % 1100

Question Number : 42 Question Id : 54062616745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

64 o T & T BT GATYRT FUTARYT J1d DX |
Options :

1. % 1000

2. % 11000

3. % 10000

4. % 1100

Question Number : 43 Question Id : 54062616746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The average weight of a group of dozen people is 65 kgs. The average weight of one-half of those people is 55 kgs and the average weight of half
of the remaining people is 65 kgs. Find the average weight of the people left.

Options :

1. ¥ 85 kgs
2. % 75 kgs
3. % 80 kgs
4. % 90 kgs

Question Number : 43 Question Id : 54062616746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Goi- ATl &b g DT 3Md HR 65 kgs €1 FTH I MY AN BT 3G UR 55 kgs & 3R 2N 31 AN BT 3G UR 65 kes 8| A AT BT
3T YR 1 B

Options :

1. ¥ 85 kgs

2. % 75 kgs

3. % 80 kgs

4. % 90 kgs

Question Number : 44 Question Id : 54062616747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 12% of a number is equal to 36% of 50, then what is the square root of 6 less than the number?
Options :

1. # 10

2. % 11

3.¥ 12

4. % 13

Question Number : 44 Question Id : 54062616747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gfe Tl BT BT 12%, 50 B 36% o SRISR ©, Al ASAT H 6 HH BT IS T G2
Options :

1. % 10

2. % 11

3. 12

4. % 13

Question Number : 45 Question Id : 54062616748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What percent of the first whole 100 numbers have either 2 or 4 in their units place?
Options :

1. % 20.20%

2. % 20.00%

3. % 20.40%

4. % 20.50%

Question Number : 45 Question Id : 54062616748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tgal gui 100 G&Tsf § 9 fordm Ui # 3he & RIM IR AT dl 2 14 82
Options :

1. % 20.20%

2. % 20.00%

3. % 20.04%

4. % 20.05%

Question Number : 46 Question Id : 54062616749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A discount of 75% was offered on the marked price of a good which was 200% more than the cost price. Find the selling price if the cost price



was Rs 50.
Options :

1. % Rs25

2. % Rs 37.50
3. % Rs45

4. % Rs 52.50

Question Number : 46 Question Id : 54062616749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gm% 3ifhd T TR 75% B Fe ! URIHR DI 718 At ST foh AT T I 200% 311F Y| afe arTd Je 50 ¥UT 4T A foehd Geg 91
I

Options :

1. % 25%4U0

2. % 37.50%4UUQ
3. % 45%0U

4, % 52.50%4¢

Question Number : 47 Question Id : 54062616750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fruit seller expects to make a profit of 25% on the selling price. If his profits for the week were Rs 900, then find the cost of his fruits.
Options :

1. ¥ Rs 2700

2. % Rs 3000

3. % Rs 3600

4. % Rs 2250

Question Number : 47 Question Id : 54062616750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP Td [ashdl [ahd Tod TR 25% & ATH B U Il ¢ | G T8 o [T ITHT AT 900 FUT AT, I 3P Bl BT el 1d B |




Options :

1. % 2700 ®UUQ
2. % 3000 U
3. % 3600 ®UU
4, % 2250%UU

Question Number : 48 Question Id : 54062616751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of the 2 goods are in the ratio of 3:4. The ratio becomes 5:6 if their costs are increased by Rs 8000 each. Find their new combined cost
price.

Options :

1. % Rs 33,000
2. % Rs 44,000
3. ¥ Rs 66,000
4. % Rs 88,000

Question Number : 48 Question Id : 54062616751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 G BT AT 3:4 & SUT & T 1 Tfe S+Feb! AT H Udeb 8000 TUY P ek 1 ATl B <Y ST 5:6 B I © | ST 7T ¥YHd ARTA

EEEIGER]
Options :

1. % 33,000 %4V
2. ¥ 44,000 ¥UUQ
3. ¥ 66,000 ®UU
4. % 88,000 %UUQ

Question Number : 49 Question Id : 54062616752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A mixture contains 120 units of milk and 40 units of water. 40 units of milk and X units of water are added to the mixture such that the ratio



between the units of milk and water become 1:2. Find the ratio between the number of units of milk and water added.
Options :

1. % 1:5

2. % 1:6

3.9 1.7

4. % 1:8

Question Number : 49 Question Id : 54062616752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 0T T 120 SHTS G 3R 40 3BT T g | FHYUI T 40 THTE g 3R X THTS UM 3 UHR ST STl ¢ fob g8 3R Ul &1 Sh1al &
9 BT U 1:2 B 971 & | STa T g 3R U B1 SHISA! ! TS o o1d BT SUTd I By |

Options :

1. % 1:5

2. % 1:6

3.9 17

4. % 1.8

Question Number : 50 Question Id : 54062616753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the difference between the simple and compound interest compounded annually on an amount of Rs 8,000 at an interest rate of 50% for 2
years.

Options :

1. ®* Rs 1,200
2. % Rs 1,440
3. # Rs 1,600
4. ¥ Rs 2,000

Question Number : 50 Question Id : 54062616753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



8,000 TTT HI AT W 2 T & AT 50% B! AT &R TR ATMND Fshfeg [T ST aTel LRI R Tehgleg TSl & aiid b 3faR J1d b |
Options :

1. % 1,200 39T

2. % 1,440 37T

3. % 1,600 30U

4.+ 2,000 Y

Question Number : 51 Question Id : 54062616754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person invests Rs 12,000 in X scheme at 6% simple interest p.a. for 5 years and Rs 20,000 in Y scheme at 10% compound interest for 5 years.
Find the interest earned by him in the 2nd year.

Options :

1. # Rs 1,460
2. % Rs 2,190
3. ® Rs 2,560
4. ¥ Rs 2,920

Question Number : 51 Question Id : 54062616754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Afad 5 auf o Torg Ui T 6% ATURU TS B ax I X AT | 12,000 FUY 7R 5 a6 o o€ Ui I 10% Iohgia &SI W Y JIoH1 &
20,000 ¥TT HT AN HATE | 23 T8 T IqP GRT Ao <1 J1d He |

Options :

1. # 1,460 2UUQ
2. % 2,190 %4UUd
3. % 2,560 24U
4.+ 2920%4U¢

Question Number : 52 Question Id : 54062616755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A bullet train takes 45 minutes to cover a distance of 135 kms. If the speed of a local train is 25% that of the express train, then how much time
will it require to cover the same distance?

Options :

1. # 150 minutes
2. # 165 minutes
3. % 180 minutes

4. % 195 minutes

Question Number : 52 Question Id : 54062616755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Fac XHTST 135 kms B g3 a0 B H 45 e &1 99T At 3 | A TP Aht YATIS! B T TaaU YerTSt Bt 71 F 25% ¢, af ST
G DI T HA T I a1 gug T

Options :

1. % 150 e
2. % 165 e
3. ¢ 180 fiFe
4. % 195 fiAe

Question Number : 53 Question Id : 54062616756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train goes from X to Y stations which are 800 kms apart in 10 hours and returns at a speed of 102.5 kmph but takes a detour of 20 kms in the
return journey. Find the average speed of the total journey.

Options :

1. # 88.88 kmph
2. % 90 kmph

3. % 89 kmph

4. % 91.11 kmph

Question Number : 53 Question Id : 54062616756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

UH YATS! X Y W do STl § S 10 9 H 800 km R € 31 102.5 kmph 1 T I Ale g alfdp- aTay! G & 20 km &1 Idb TR
g $ I B 3 TS 1 B

Options :

1. % 88.88 kmph

2. % 90 kmph

3. % 89 kmph

4. % 91.11 kmph

Question Number : 54 Question Id : 54062616757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 people, X and Y can do their work in 20 days each. After working for 4 days, X's efficiency is doubled while Y's efficiency is halved. In how
many days is the work fully complete?

Options :

1. # 8 days
2. % 8.4 days
3. % 8.6 days
4. ¥ 8.8 days

Question Number : 54 Question Id : 54062616757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 IR, X 3R Y B 1 U 20 fef B = b B 1 4 f&T b BT 7 & 1, X 1 Géi SR 81 STl @ Siafp Y b1 gera 3neht
B St 81 fpan femt & ored oo QR 8Yan 82

Options :

1. % gfeq

2. % g4feq

3. % g6fea

4. ¢ g8 feA

Question Number : 55 Question Id : 54062616758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A works at a speed of 200% more than B. If B takes 60 days to do the work, then in how many days can A and B together complete the work?
Options :

1. % 12

2. %20

3.¥ 15

4. % 18

Question Number : 55 Question Id : 54062616758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g%%zOO%Wvﬁrﬁmm%laﬁmeﬁwﬁﬁéo%ﬁﬁm%ﬁAaﬁTBmuﬁawwam‘ﬁﬁmﬁ%:ﬁﬁwaﬁ
.

Options :

1. % 12

2. % 20

3.4 15

4.% 18

Question Number : 56 Question Id : 54062616759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the total surface of a cone if the radius of the cone is 56 cm and the perpendicular height is 7 cm less than double the radius.
Options :

1. ® 15,400 sq cm

2. % 30,800 sq cm

3. % 23,100 sq cm

4. % 46,200 sq cm

Question Number : 56 Question Id : 54062616759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

THh P B! Hd YY1 8A0hd 1d BX I1e AP PI A0dT 56 cm § AR TG SHATg ol & GRH A 7 cm HHAG |
Options :

1. # 15,400 sq cm

2. % 30,800 sq cm

3. % 23,100 sq cm

4. % 46,200 sq cm

Question Number : 57 Question Id : 54062616760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 spheres have a radii of 4 cm and 5 cm respectively. By how much will the area of the bigger sphere be greater than the smaller sphere?
Options :

1. % 25.00%

2. % 37.50%

3. ¥ 56.25%

4. % 9531%

Question Number : 57 Question Id : 54062616760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

21ﬂﬁﬁﬁwrﬁm 4cm 3R 5 cm%l @ﬁﬁﬁ%ﬁ%@%‘ﬂﬁ@%%ﬁ"
Options :

1. % 25.00%

2. % 37.50%

3. ¥ 56.25%

4. % 9531%

Question Number : 58 Question Id : 54062616761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie-chart shows the distribution of expenses and profit of a factory. If the producer spends Rs 750 on the fuel of 5 units of goods, then how



much will he earn on profits on 20 units of goods?

Profit and Expenses of a Factory

Options :

1. ¥ Rs 3,200
2. ¥ Rs 3,840
3. ¥ Rs 4,320
4. % Rs 4,800

Question Number : 58 Question Id : 54062616761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UT3-91¢ Uh HREM & g 3R A1 & fAaR0r &1 e=1idl g | A STUTGH a¥d 1 5 SHTs b 38 WR 750 $UU Td HR &, Al 98 a%d BI 20
SPTS IR faraT AT SHfofd Hm?




TP TRE T ATH X =Y

Options :

1. % 3,200®U¢
2. ¥ 3,840 %UU
3. % 4.320%U¢
4. % 4,800 %UU

Question Number : 59 Question Id : 54062616762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph shows the sales of books over a period of time. What is the ratio between the average sales of 2018-2020 and the average sales of
2015-2017?
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Options :

1. ¥ 21:17
2. % 17:21
3. % 21:19
4. % 17:19

Question Number : 59 Question Id : 54062616762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 21:17
2. % 17:21
3. % 21:19
4. % 17:19

Question Number : 60 Question Id : 54062616763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph shows the expenses incurred (in Rs) during the year. If the expense percent is 64%, then how much was the profit for the year?
(Profit percent = Profit + Sales < 100 and expense percent = Expense + Sales X 100 and Sales = Profit + Expenses)
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Expense

Options :

1. ¥ Rs 384
2. % Rs 180
3. % Rs 276
4. ¥ Rs 216

Question Number : 60 Question Id : 54062616763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR U% aY & SR fbU T4 99 (FUT H) oI S2iaT g | Ife T Ufa=id 64% &, O a8 & ford o fard=m 42 (@ry ufaerd = oy + faht «
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Options :

1. % 384204
2. % 180 >UUQ
3. % 276 ¥UU
4. v 216%U¢
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General Hindi

Section Id : 540626771
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626927
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062616764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasmeal § O 39 fasweu o1 g4 &3 o fou U TfY - fowde Yo & Ul I ST faweu g |

DR+ AT
Options :
1. ¥ DR
2. % DA
3. % pYd
4. % DA

Question Number : 61 Question Id : 54062616764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawed &1 79 o3 off AT 7T TfY - fawde Tsg & I8! Wi o1 fasweu 7 |



PRI+ A
Options :
1.  HRTHA
2. ® HRMHA
3. % pYd
4. % PRI

Question Number : 62 Question Id : 54062616765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g et B A 39 ey &1 99 B S faU 71w If <rea & el Y - [ S fdpeu B |
EREE]

Options :

1. % favg + sfpa
2. % T8 + 3MTo1d
3. % fQRg +3(Ppd

4. ¢ faXE + Sgd

Question Number : 62 Question Id : 54062616765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawed &1 79 o3 off 3T 7T TfY Trse & Tat IfY - fowde w1 faweu 7|
ERHER

Options :

1. % favg + sfpa
2. % aRg + 3T
3. % fQRg +3(Ppd

4. ¢ fag + Sip@



Question Number : 63 Question Id : 54062616766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl o 9 39 fdded &1 997 < Sl dgHd Xeg HI Tg! [Ahe 3 |
Options :

1. % ouf

2. % 3y

3. ¥ DY

4. % dY

Question Number : 63 Question Id : 54062616766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 3 fahed &1 999 o3 ol deHd Vet &1 el fabeu 3 |
Options :

1. % Ul

2. % 3

3. % DI

4. % dY

Question Number : 64 Question Id : 54062616767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ol & @ 39 fachey &1 98 3 off AT 7T Xeg &1 T} STAf 7 |
BIRCINC

Options :
1. * U
2. ¥ TUR
3. % R{
4. %Y




Question Number : 64 Question Id : 54062616767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fased &1 999 3 off AT 71T Usg &1 Y&l ST |
BIECINED

Options :
1. % U
2. ¥ IR
3. % R/
4. %Y

Question Number : 65 Question Id : 54062616768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeifed 2rse & Ugdd el U o1 gA1d Diford |
BIREI |

Options :
1. %%
2. %t
3. % 3Tt
4. 9%

Question Number : 65 Question Id : 54062616768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad <req § Ugad Il U &1 gATd DITor |
BICZEI

Options :




1.%3
2. %
3. % 3Tl
4.9%

Question Number : 66 Question Id : 54062616769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g ol & @ 3 fdshe &1 98 3 off AT 7T areiey & fole U Rieg &1 gl fdweu 3 |

3fafY HT IPR -
Options :

1. % 3/Td

2. % Al TBHR
3. ¢ 3ffa

4. % MU=RD

Question Number : 66 Question Id : 54062616769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fashey &1 9u &3 o AT 7T areiey & fofe U eg &1 U8l fdweu 3 |

3 BT TP R -
Options :

1. % 3/rd

2. % 3fafy TR
3. ¢ 3fifd

4. % UG

Question Number : 67 Question Id : 54062616770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



79 faemedl # ¥ 39 fadwed o1 9g &1 ol 3T T Weg - i & Wgt o arert fadwed g |
T - gt

Options :

1. ¥ 33! g , IR
2. % 3BT §fa , JugaH
3. % RAR 89

4. % B, g

Question Number : 67 Question Id : 54062616770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § 9 39 fadmed &1 9a- &< ol fAT T eg - T o W 3 a1 fawed g |
T - gl

Options :

1. ¢ 3BT gfg , IR
2. % 3B g, JuudT
3. % R g

4. % 331 gfg, B

Question Number : 68 Question Id : 54062616771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g el § @ I fIhed &1 =9 &Y Sl f3T 71T Tee o7 Tt GAAIRN Teg B |
g

Options :

1. % qHYE
2.9 Y

3. % HIcl

4. % Tl



Question Number : 68 Question Id : 54062616771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e el & @ I fIhed &1 == &Y Sl f3T 71T Tee 7 Tt GAFIRN Teg B |
g

Options :

1. = AN
2.¥ g

3. % Hlcl
4. % Tl

Question Number : 69 Question Id : 54062616772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 3 fadhey &1 90 3 off AT U a1e & HTd & Ve &1 el fahed g |
# onft geg 9 oM g |

Options :

1. ¢ 3 YadbTd

2. % gUf qaqHHId

3. % guf Ydord

4. % Gy Ydbld

Question Number : 69 Question Id : 54062616772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fache &1 9u B3 o AT U aT1e0 & &HTd & Ve o1 el fabed 7 |
T anf gas ¥ oM g |

Options :



1. ¢ 3T YdPbTd
2. % gUf qaHH®Id
3. % QO Yddb1d

4. % Gi<T Ydhbra

Question Number : 70 Question Id : 54062616773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & J 39 fawed &1 999 &3 off HIFH | [T 7Y e 1 Te! STH 3N T G 5 |

Options :

1.« () 3ol -1 foare & 4@ T |
2. % (3TT) SR 3T |

3. % TRAN R (PS) WST |

4. % (@) Dol MW Y?

Question Number : 70 Question Id : 54062616773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fasedl & A 39 fased o1 9 B S H1¥ H 4T 71T ez 1 TE1 I YW dr<ieh aTH & |

Options :

1.« (T TS B forare AT Y T |
2. % (3MY) SR I3 |

3. % RAT W (PS) WS T |

4. % (@) Dol MW@ Y?

Question Number : 71 Question Id : 54062616774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fasrey &1 999 o3 o faU 78 a9 & Uel & N &1 98! fdhed g |

TG BT U HRAT &) I S I@T 2 |




Options :

1. % FMIdRae
2. % gdIAdd
3. ¢ JTfaeEde
4. % QUAEd®

Question Number : 71 Question Id : 54062616774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdehey &1 9a= 3 off faU U 9190 & Uel & 9 o1 el fadbeu g |

§1¢ BT U 4ReT € =T ST 8§ |
Options :

1. # Aoaeas

2. % gdIAdd

R A UIREIGED

4. % QUIARIAS

Question Number : 72 Question Id : 54062616775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl o 9 39 faded &1 9= &1 Sl TR fog gad a1ed &1 98! fddhea § |

Options :

1. % foRa AfeR- SgR-HfeR, sierum AfeR, T AfeR, TogRT Wi 3fe e UTfie RIA 3 |
2. % foR-TfR, FER-HfeR, srerum HieR T AR, TogRT WA 1S T «Tftie -Id §

3. % foRa-HfeR, SRE-HiR, sfeRum™ HieR- R 1feR, TeeRT WS 31fe TE urffe ®d g |
4. ¢ foREN-HIR, TETE-HfeR, SreRum™ AR, T TR, TogRT Waie 3nfe T e wia g |

Question Number : 72 Question Id : 54062616775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



19 famedl 4 ¥ 39 fdw ey o1 9g+ &< il TR g gad a1ed 1 981 fddhed § |

Options :

1. % foRa AfeR- ger-HfeR, iRy HieR, AT wieR, TegRT TRy 3nfe Ui efifes Riel 8|
2. % foR-TfR, FER-HfeR, serum HieR T AR, TogRT WS 1S T «TfHie -Id §

3. % fReHfeR, TRTE-HfiR, srerurd wieR- A HidR, TogRT s ofife g wiftie @ g |
4. ¢ TRA1-TRR, TER-HR, 3Ry AR, TR HieR, TogRT WS 3nfe TR urfifes RId 3 |

Question Number : 73 Question Id : 54062616776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 famedl & ¥ 39 fadwed &1 9a &< ol f4T T GgTar &1 98! fadhed § |

D R JHT
Options :

1. ¢ SRR AT

2. % HISATE g oMl
3. % §EATH BT
4. ® DY 3OMI

Question Number : 73 Question Id : 54062616776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # ¥ 39 faswed o1 9g &< ol 3T T Herak &1 98! fawed g |

B W S T
Options :

1. ¥ SRR AT

2. % HEAS R AT
3. % g HRAT
4, % DY IS



Question Number : 74 Question Id : 54062616777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & 9§ 39 fashey &1 98 3 off AT U deifad &1 98! fdweu 3 |
3hat ¢ HIad W HgR

Options :

1. % Uh 9% & 3BT d1g dTdl

2. ¥ §S - 98 Wl IR &M A &A1, B¢ Wl H oyl feam
3. % 3 BT BT UNUMH 3BT 8Idl &

4. % gRem H 3Fq Wfad gl 8

Question Number : 74 Question Id : 54062616777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fache &1 9u B3 o T U Aol &1 98! faweu 3 |
3hT g B W JAgR

Options :

1. % U o & 3T A1 ardl

2. 98 - 98 Wl IR & 7 &1, BIC Tt H oyl fe@m T

3. % 3wy HIH PT YR 331 gal &

4. % URYAH 3 Aad gldt &

Question Number : 75 Question Id : 54062616778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & 9§ 39 fashe &1 9u B3 off AT U Aeifaa &1 Ug! fdweu 3 |
AR AR ARR H1g

Options :

1. % 9SHM! §R - IR 7Tg! Tt




2. % 35T fad ey fe@mar ar g
3. ¥ ¥ AT o BT it &
4. ® YIS - HTs e g1

Question Number : 75 Question Id : 54062616778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & 9§ 34 fadhey &1 98 3 off AT U deifad &1 Ue! fdweu 3 |
IR IR AR YIS

Options :

1. % SSAM §R - IR T8 gaat

2. % 3T fad Tel faarar Hrar g
3. ¢ ¥ ATl # 3o RErar gt &
4. % TS - TS Ha®HR &

Sub-Section Number : 2
Sub-Section Id : 540626928
Question Shuffling Allowed : Yes

Question Id : 54062616779 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

Fra fou 7 T @ earydes ue 3R U Y et o1 waad SR I |

AR 37T U T A SOl g, Slaes a1 fRI&d a1 TR & AHHUR, VAT BIg &7 o1 ol Higensi =1 37Ut HIaferad o1 w7 fa
g1 g8 Y TR UMM & GUR] H 98B BT 31 R 307 TRAR & el W1 §9M1, §= 3R Ufd 3t BT a3t TRexal Bl o= &
ST HigaTd SRga Bl & | T o U TUR] 4 SR 3RTH HR HT fadhed gid1 § Afdh Afeansil & o Tur 781 81 =R a8 fpat of
Y1 Bl I8 TR WR 3T il U [ UTa 1 TSl & [ARTTE 30 -3 &5 H 3+ Sgaii- &1 B! & oy 3o URaR 3R
TATST BT SAUR A1 GBIl § | TRBR - AlGarail & I SR T & o 5 IR 08 9910 § d1fcs Al TS| 3R a6 YRId 7eqd
H | 91 fadTE, T8 UT, H-aT -YUT 8T 3R TR fe & Ufa we fFaw any fd &1 wRa & 3o off sriesTol Afgand JRIE T8t § & &t
R XA B D! GR&{ BT WaR] 3T it Tore H U g S Wt ¢ | Afebt Wi Afgersii & e awRl gR1 el o1 Uy foban 71 & afifeb
9% RIAT 307 TR AP Ugd 9P |

Sub questions




Question Number : 76 Question Id : 54062616780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WHR 3 Afgensit & ufd g i SRl R &3 fFaa arp feu g 2
Options :

1. % gl g8

2. % fayar faarg

3. ¢ S0 f3aT, T39I, =0T -4UT BT 31 O fea

4. % SV

Question Number : 77 Question Id : 54062616781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTHGTSN AfGATS B R & T TwRT gRT 31 Uaie famar T g |
Options :

1.¥ &9

2. % PSS

3. % 9 TS

4. % T

Question Number : 78 Question Id : 54062616782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Tt Afgeran 3 fop-fape &t ¥ 3o+t sraferad o1 v fea & |
Options :

1. % Hooll oA

2. ¥ SofifRR, SlaeR , &1 1 TURT & IR

3. % g - WST

4, % M1 g1

Question Number : 79 Question Id : 54062616783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I H1 faaH e 7T
Options :

1. % TEIfay

2. % IDHY

3. % ey

4. Ud-d

Question Number : 80 Question Id : 54062616784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3f=q & fory Ifera <fdep diford |
Options :

1. % Oigarsi & &=

2. ¥ BIHBIS HgeT3HT bl AR YT |
3. % GRRI | BTH B dTell Aigey

4. % HTHBTSN Algal

Question Id : 54062616779 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

ra fou 7T TR @ earyde Ue SR U Y Ut &1 Had SR I |

AfedR 31 Udh qWhd SR §, SideR a1 & 1 GURI & IR, U1 Dl & el ol Afgansil ¥ U wraferad o1 yHTor = fsan
Bl T q THR U b SHRI H d3HR BT HAT bR 30 IRAR 3 forT W1 -1, F=df iR Ufd &1 BT -aS] Sl bl faRy &
ST ATy SRga Bl ¢ | TOUI o U TUR] 4 SR 3RTH HR- BT fadhed gidl § b Aieanail o o TH1 781 ¢ | 918 a8 fbat ot
Y1 B I8 TR WR U Bt UAD [ UTe BT USdl g AR 30 -3 &3 H 3 98 ol dial & forad 39 URaR 3R
TATST B ITUR TSIl g | TRBR = Afarsii & IAH 3R Wifa & o S IR fFam 9910 g arfs Afgan I 3R a1eR JRi 7eq™
® | 19 (918, TS T, H=01 -4UT 8T 3iR W & & ufd we fFaw arg f6d § | 4Ra & o ot Aot Afgany IR 761 & o Bt
R T B ITh! GR&{ BT W] 3T 1t Torel H U g e @t g | ifcbt Wi Afgersii & forw awiRl gR1 el 1 Ualel foban 11 & afifeb
9g QR3S TR I Ugd A |




Sub questions

Question Number : 76 Question Id : 54062616780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WHR = Afgarsit & ufd gu i smaRl R ws o arp feu g 2
Options :

1. % gl a8

2. % fqear faarg

3. ¢ S0 faaTe, S8% T, =0T -YUT g1 31 e fea

4. % HSIS

Question Number : 77 Question Id : 54062616781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTHGTSN AfgaTsl B R & fow SwRT gRT 3 Uaie foar T g |
Options :

1.¥ &9

2. % TSI

3. % g el

4. % TN

Question Number : 78 Question Id : 54062616782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T Afgaraft 3 far-fp &=t & s wraferad &1 v faan g |
Options :

1. % Feoll A

2. ¥ SR, STaex , fR1&1eh U1 SRR o 3(HIR

3. % g - W0

R RCIEIEIGI



Question Number : 79 Question Id : 54062616783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I H1 faeli Teg FT 5

Options :

1. ® TATfd

2. % IDY

3. % Ay

4. % Ud-

Question Number : 80 Question Id : 54062616784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTase o fod Ifad N il |
Options :

1. % Tfgemaii & &=

2. ¢ HIHDIST Higelsf Dl Glgt YHDT |

3. % TURI T HTH B dIai Afgany

4. % BIHDTS HigE
General English
Group Number : 5
Group Id : 540626592
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General English

Section Id : 540626772
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626929
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062616785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

I need a bigger knife for/ these large fruits;/ this one cuts the mustard.
Options :

1. * Ineed a bigger knife for

2. * these large fruits;

3. ¢ this one cuts the mustard.

4. * No Error

Question Number : 81 Question Id : 54062616785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

I need a bigger knife for/ these large fruits;/ this one cuts the mustard.



Options :

1. # Ineed a bigger knife for
2. # these large fruits;

3. % this one cuts the mustard.
4. ¥ No Error

Question Number : 82 Question Id : 54062616786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

This is one of the novel/ that has made/ a mark in my life.
Options :

1. % This is one of the novel

2. # that has made

3. ¥ amark in my life.

4. % No Error

Question Number : 82 Question Id : 54062616786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

This is one of the novel/ that has made/ a mark in my life.
Options :

1. ¥ This is one of the novel

2. # that has made

3. % a mark in my life.

4. ¥ No Error

Question Number : 83 Question Id : 54062616787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Alex had provided the money to remodel the home, (yet insisted that it stays in her name only.)
Options :

1. #* but insists that it stays in her name only.

2. # yet insisted that it stay in her name only.

3. ¥ but insisted that it stay in her name only.

4. # No correction required

Question Number : 83 Question Id : 54062616787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Alex had provided the money to remodel the home, (yet insisted that it stays in her name only.)
Options :

1. * but insists that it stays in her name only.

2. % yet insisted that it stay in her name only.

3. ¥ but insisted that it stay in her name only.

4. % No correction required

Question Number : 84 Question Id : 54062616788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Not just did Emily start playing the piano) before she could speak, but her mother taught her to compose music at a very early age.
Options :
1. ¥ Not only did Emily start playing the piano



2. % Nor only did Emily start playing the piano
3. % Neither did Emily start playing the piano

4. # No correction required

Question Number : 84 Question Id : 54062616788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Not just did Emily start playing the piano) before she could speak, but her mother taught her to compose music at a very early age.
Options :

1. ¥ Not only did Emily start playing the piano

2. % Nor only did Emily start playing the piano

3. # Neither did Emily start playing the piano

4. # No correction required

Question Number : 85 Question Id : 54062616789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

He also a pair of shears, which he insisted Noble used to trim the grass underneath where she had parked.

Options :

1. # corroborated
2. # articulated
3. % brandished
4. # gubstantiated

Question Number : 85 Question Id : 54062616789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



He also a pair of shears, which he insisted Noble used to trim the grass underneath where she had parked.

Options :

1. # corroborated
2. # articulated
3. % brandished
4. # gubstantiated

Question Number : 86 Question Id : 54062616790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

If you don’t him when he actually makes the mistake, he will get away with it every time and never improve himself.

Options :

1. # subjugate
2. # surrogate
3. ¥ castigate

4. # circumnavigate

Question Number : 86 Question Id : 54062616790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

If you don’t him when he actually makes the mistake, he will get away with it every time and never improve himself.

Options :

1. # subjugate
2. # surrogate
3. % castigate

4. % circumnavigate

Question Number : 87 Question Id : 54062616791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

To say that the government deliberately
P. to pay too high a compliment

Q. setting race against race would be
R. of mastering the revolution by

S. adopted the Machiavellian policy

to its capacity.
Options :

1. * QSRP
2. ¥ SRQP
3. # PQRS
4. % QPRS

Question Number : 87 Question Id : 54062616791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

To say that the government deliberately
P. to pay too high a compliment

Q. setting race against race would be
R. of mastering the revolution by

S. adopted the Machiavellian policy



to its capacity.
Options :

1. % QSRP
2. % SRQP
3. ¥ PQRS
4. % QPRS

Question Number : 88 Question Id
Orientation : Vertical

: 54062616792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Inane

Options :

1. # Intelligent
2. % Absurd

3. % Competent
4. # Complete

Question Number : 88 Question Id
Orientation : Vertical

: 54062616792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Inane

Options :

1. # Intelligent
2. % Absurd

3. % Competent
4. % Complete

Question Number : 89 Question Id

: 54062616793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Anomaly
Options :

1. ¥ Pungent
2. # Imbibe

3. % Aberration
4. ® Facilitate

Question Number : 89 Question Id : 54062616793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Anomaly
Options :

1. % Pungent
2. # Imbibe

3. % Aberration
4. # Facilitate

Question Number : 90 Question Id : 54062616794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ absence

2. % absense

3. # absentse

4. % absance



Question Number : 90 Question Id : 54062616794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ absence

2. % absense

3. % absentse

4. % absance

Question Number : 91 Question Id : 54062616795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ affiliate

2. % afiliate

3. % affliate

4. * afliate

Question Number : 91 Question Id : 54062616795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ affiliate

2. % afiliate

3. # affliate

4. # afliate

Question Number : 92 Question Id : 54062616796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

X marks the spot

Options :

1. ¥ When someone finds something he/she has been looking for.
2. # In order to stay healthy you must eat healthy foods.

3. # Decisions shouldn't be made primarily on appearance.

4. % For certain.

Question Number : 92 Question Id : 54062616796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

X marks the spot

Options :

1. ¥ When someone finds something he/she has been looking for.
2. % In order to stay healthy you must eat healthy foods.

3. % Decisions shouldn't be made primarily on appearance.

4. ® For certain.

Question Number : 93 Question Id : 54062616797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

When It Rains, It Pours

Options :

1. # When somebody is treated to an expensive meal.

2. % Uncultured and without laws.

3. % When one bad thing happens, followed by a lot of other bad things that make a bad situation worse

4. % To openly and freely express your emotions.



Question Number : 93 Question Id : 54062616797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

When It Rains, It Pours

Options :

1. # When somebody is treated to an expensive meal.

2. % Uncultured and without laws.

3. % When one bad thing happens, followed by a lot of other bad things that make a bad situation worse

4. # To openly and freely express your emotions.

Question Number : 94 Question Id : 54062616798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A building where animals are butchered
Options :

1. ¥ Abattoir

2. % Abdication

3. % Addendum

4. % Aeon

Question Number : 94 Question Id : 54062616798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A building where animals are butchered
Options :
1. ¥ Abattoir



2. * Abdication
3. # Addendum
4. % Aeon

Question Number : 95 Question Id : 54062616799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A cold-blooded vertebrate animal that is born in water and breathes with gills
Options :

1. ¥ Amphibian

2. % Amnesia

3. # Anthropologist

4, % Ambidextrous

Question Number : 95 Question Id : 54062616799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A cold-blooded vertebrate animal that is born in water and breathes with gills
Options :

1. ¥ Amphibian

2. ¥ Amnesia

3. % Anthropologist

4. % Ambidextrous

Sub-Section Number : 2
Sub-Section Id : 540626930
Question Shuffling Allowed : Yes

Question Id : 54062616800 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (96 to 100)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

The macaw is the most colourful bird of the world's three hundred and forty parrot species. Its exotically coloured plumage mesmerizes
collectors the world over. Native to the Americas, macaws inhabit the tropical rainforests stretching from Central Mexico to Northern Argentina.
They especially flourish in the rainforests of South Eastern Peru, bordering the Amazon basin.

Each morning, the clay cliffs at Peru's Tambopata River are besieged with a riot of colours. With such an abundant supply of food at their
disposal, it is indeed peculiar that the macaws eat the clay! The clay probably fortifies them with salts and minerals, deficient in their largely
vegetarian diet. Some of the seeds that the macaws devour contain toxic compounds and the clay, acting as a detoxifying agent, counters any ill
effects.

Hunting and intense development projects, causing deforestation and pollution have seen the Latin American macaws dwindle in numbers. The
remote and impenetrable jungles have protected the Peruvian macaws; they are vulnerable to certain pressures. The macaws have low
reproduction rates due to a shortage of ideal nests in the cavities of trees. Of the few macaws born, a few survive into adulthood. This is because
macaw parents feed older nestlings first, causing the younger siblings to die from undernourishment. Scientists have solved the housing problem
by building artificial nests using durable plastic pipes called PVC. The exterior of the pipes is scrubbed with a steel brush to simulate the texture
of the tree trunks.

The Peruvian government has curtailed poaching by outlawing the exports of its tropical birds, and by establishing reserves like the Manu
National Park. This wildlife haven is a sanctuary to a plethora of animals and plants. In such havens, the macaws will undoubtedly thrive.

Sub questions

Question Number : 96 Question Id : 54062616801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, how many species of parrots are there in the world?
Options :

1. * 100

2. % 250

3. % 500

4. ¥ 340

Question Number : 97 Question Id : 54062616802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Why do macaw's consume clay?

Options :

1. ¥ Because it is rich in salts and minerals and acts as detoxifying agent.
2. % Because of scarcity of food in the rainforests of Peru.

3. ® Because clay is their is natural food source

4. ® Because they are omnivores and eat both insects and seeds.

Question Number : 98 Question Id : 54062616803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Deforestation and pollution has decreased the population of macaws in which region?
Options :

1. ® North America

2. % Europe

3. ¥ Latin America

4. ® Asia

Question Number : 99 Question Id : 54062616804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. ® Very few macaws survive into adulthood because their parents feed older nestlings first,
causing the younger siblings to die from undernourishment.

2. % Macaws eat clay to detoxify any toxic compound from the seeds that they eat.

3. # The government of Peru has taken drastic measures to preserve its wildlife.

4. ¥ Hunting and intense development projects, causing deforestation and pollution have seen the North American macaws dwindle in numbers.

Question Number : 100 Question Id : 54062616805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage which reserve has been given as an example to curtail poaching in Peru?
Options :



1. # Paracas National Reserve

2. # Titicaca National Reserve

3. % Pacaya Samiria National Reserve
4. ¥ Manu National Park

Question Id : 54062616800 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

The macaw is the most colourful bird of the world's three hundred and forty parrot species. Its exotically coloured plumage mesmerizes
collectors the world over. Native to the Americas, macaws inhabit the tropical rainforests stretching from Central Mexico to Northern Argentina.
They especially flourish in the rainforests of South Eastern Peru, bordering the Amazon basin.

Each morning, the clay cliffs at Peru's Tambopata River are besieged with a riot of colours. With such an abundant supply of food at their
disposal, it is indeed peculiar that the macaws eat the clay! The clay probably fortifies them with salts and minerals, deficient in their largely
vegetarian diet. Some of the seeds that the macaws devour contain toxic compounds and the clay, acting as a detoxifying agent, counters any ill
effects.

Hunting and intense development projects, causing deforestation and pollution have seen the Latin American macaws dwindle in numbers. The
remote and impenetrable jungles have protected the Peruvian macaws; they are vulnerable to certain pressures. The macaws have low
reproduction rates due to a shortage of ideal nests in the cavities of trees. Of the few macaws born, a few survive into adulthood. This is because
macaw parents feed older nestlings first, causing the younger siblings to die from undernourishment. Scientists have solved the housing problem
by building artificial nests using durable plastic pipes called PVC. The exterior of the pipes is scrubbed with a steel brush to simulate the texture
of the tree trunks.

The Peruvian government has curtailed poaching by outlawing the exports of its tropical birds, and by establishing reserves like the Manu
National Park. This wildlife haven is a sanctuary to a plethora of animals and plants. In such havens, the macaws will undoubtedly thrive.

Sub questions

Question Number : 96 Question Id : 54062616801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, how many species of parrots are there in the world?
Options :

1. % 100



2. % 250
3. % 500
4. ¥ 340

Question Number : 97 Question Id : 54062616802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why do macaw's consume clay?

Options :

1. ¥ Because it is rich in salts and minerals and acts as detoxifying agent.
2. # Because of scarcity of food in the rainforests of Peru.

3. % Because clay is their is natural food source

4. % Because they are omnivores and eat both insects and seeds.

Question Number : 98 Question Id : 54062616803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Deforestation and pollution has decreased the population of macaws in which region?
Options :

1. # North America

2. % Europe

3. ¥ Latin America

4. % Asia

Question Number : 99 Question Id : 54062616804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # Very few macaws survive into adulthood because their parents feed older nestlings first,
causing the younger siblings to die from undernourishment.

2. % Macaws eat clay to detoxify any toxic compound from the seeds that they eat.

3. # The government of Peru has taken drastic measures to preserve its wildlife.



4. ¥ Hunting and intense development projects, causing deforestation and pollution have seen the North American macaws dwindle in numbers.

Question Number : 100 Question Id : 54062616805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage which reserve has been given as an example to curtail poaching in Peru?

Options :
1. # Paracas National Reserve

2. * Titicaca National Reserve

3. % Pacaya Samiria National Reserve

4. ¥ Manu National Park
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Question Number : 101 Question Id : 54062616806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage of personality development does the trust issue arrive?
Options :

1. * Adulthood

2. ¥ Infancy

3. * Maturity

4. % adolescence

Question Number : 101 Question Id : 54062616806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fadm & ford aRur & fayry o1 4T M1 82
Options :

1. % dIhdl

2. TRIggaR

3. % URUehd

4. % fhRRTEGRIT

Question Number : 102 Question Id : 54062616807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who proposed that mind is divided into 3 components?
Options :

1. ¥ Freud



2. * Fredrick
3. ®* Ferman

4. * Filinius

Question Number : 102 Question Id : 54062616807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e vreTfardt faan 135 711 3 Tt & fauTfora 2
Options :

1. ¥ hIgs

2. % TR

3. % HHA

4. % fipferfrog

Question Number : 103 Question Id : 54062616808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not an example of personal ethics?
Options :

1. # loyalty

2. # Respect

3. % Selflessness

4. ¥ Accountability

Question Number : 103 Question Id : 54062616808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EN o~ A .
&I T AfeTd Afddhdl BT IR0l 8] %?
Options :

1. % [A§T
2. % 3G




3. % feganefdn
4. ¢ SAIdas!

Question Number : 104 Question Id : 54062616809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given options which qualifies as a component of good communication?
Options :

1. # Stopping someone to say something

2. # Multitasking

3. % Equating your experiences

4. ¥ Listening

Question Number : 104 Question Id : 54062616809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T faoh el H F HH o/ TIR & Ueh & =0 H Ig 72
Options :

1. % foodfl D1 P& B A

2. % §g S

3. % 30 Ul B SRIERT HRAT

4. % G-l

Question Number : 105 Question Id : 54062616810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is a commonly used app for photo editing?
Options :

1. # Pixel

2. ¥ Picsart

3. % Videoleap



4. # vita app

Question Number : 105 Question Id : 54062616810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T TY (App) TTHIIS: Bie! TS & forg Iugi fovar sirar g2
Options :

1. ® foed

2. ¢ fUgame

3. % difsgredia

4. % diertu

Question Number : 106 Question Id : 54062616811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anatomy refers to the & structure of the body?
Options :

1. # physical, mental
2. ¥ internal, external
3. # emotional, bodily

4. # bone, skin

Question Number : 106 Question Id : 54062616811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRINGT TRR Bt SR IR HafHd Hrar g2
Options :

1. % RN, AFRS

2. ¢ 3fide a et

3. ® YIS, TRIND

4. % ggI, @l




Question Number : 107 Question Id : 54062616812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gland ducts thus usually open up into the upper part of a hair follicle, called the infundibulum.

Options :

1. # Eccrine
2. % Apocrine
3. % Adrenals

4. ¥ Apoeccrine

Question Number : 107 Question Id : 54062616812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T AFAHIY SMTHAR TR 91 $U & SHURI U H Gard! &, o ShiSgad Hal Sl g |
Options :
1. % Teplg
2.+ TUIshTA
3. % 3HfOgad
4. % 3UIHIS

Question Number : 108 Question Id : 54062616813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The 3 layers of skin are Epidermis, Dermis and

Options :

1. ¥ Hypodermis

2. # Adipocyte

3. % Sebaceous gland

4. ¥ Hypodermis & Adipocyte

Question Number : 108 Question Id : 54062616813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T DI 3 W TS, sl ok gl

Options :

1. ¢ 3y @Sy

o

2. % DRG] (TSTRTZT)
3. % qEUISY T8
4. % gy @USiY) ok TuPHIReT (TfeuTse)

Question Number : 109 Question Id : 54062616814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is the best example of good grooming?
Options :

1. ¥ Healthy teeth and gums

2. # Inappropriate Dressing

3. # Alternate days shower

4. % Long nails

Question Number : 109 Question Id : 54062616814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T 3 YaRA (F[ET) FT AT a8 62

Options :

1. ¢ W™ G 3R IS
2. % 3fd URY™

3. % qHicyd W HRAT
4, % Ao ARG

Question Number : 110 Question Id : 54062616815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

How can you build a wardrobe on a tight budget?
Options :

1. * shopping using a credit card

2. % keep a track of on going sales

3. # periodic shopping

4. % shop one outfit/month

Question Number : 110 Question Id : 54062616815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

37 HH FoIc § TEINR T &1 gbd 22
Options :

1. % PHfse HIS Y WIGRI
2. ¢ I 5! faeh! IR &
3. % 39fIP TSR

4. % TP UIRTH/HTE WG

Question Number : 111 Question Id : 54062616816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Makeup brushes can be cleaned with
Options :

1. # Detergent

2. % Liquid detergent

3. % Baby soap

4. ¥ Shampoos

Question Number : 111 Question Id : 54062616816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B3 I DI J I {1 S gpar gl



Options :

1. % 3UHSIS

2. % g uHNIS (fafs feesic)
3. % §& 99

4. QY

Question Number : 112 Question Id : 54062616817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How can we prevent sunburn at the beach?
Options :

1. ® staying away from sea water

2. ¥ applying generous amount of sunscreen
3. % drinking water at regular intervals

4. ® wearing warm clothes

Question Number : 112 Question Id : 54062616817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B9 S d¢ R JhaTg (IJa) BT Bl JAdb Tohd g2
Options :

1. % JU U 9 gR @

2. ¢ YUIaRU D T HHAT T

3. ® Faferd eidavrel oR U O

4. % TH HUS UG

Question Number : 113 Question Id : 54062616818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Daily exposure to dirt and soil can cause

Options :



1. #* blackheads
2. % skin damage
3. % tearing of skin

4. # losing of melanin

Question Number : 113 Question Id : 54062616818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Tt 3R et & U H e | RRSEIR
Options :

1. % gy

2. ¢ @I B &fd

3. % oddl bl el

4. % T B I

Question Number : 114 Question Id : 54062616819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How does pollution damage skin?
Options :

1. ¥ by breaking the collagen

2. % by dehydrating skin

3. # by entering into the Epidermis

4. ® by reacting to natural elements

Question Number : 114 Question Id : 54062616819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG0 a1 B & JHAM Ugardl g2
Options :

1. ¢ PIco Bl ASPR




2. % T DI (ASiferd s
3. % TS & yds vy
4. % YIpide dedl R Ufdfhar ddh

Question Number : 115 Question Id : 54062616820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How often one should cleanse hair?
Options :

1. ¥ thrice a week

2. % once a week

3. # once a month

4. % yearly

Question Number : 115 Question Id : 54062616820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tefl <! fabdit IR It BT AMBT?
Options :

1. ¢ 9ig H dH R

2. % Jug H TP R

3. % HEH H Th IR

4. % QI

Question Number : 116 Question Id : 54062616821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not a reason for shampooing?
Options :

1. ¥ for relaxation

2. % to remove product layers



3. % for cleansing scalp

4. # for cleansing dirt

Question Number : 116 Question Id : 54062616821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T | D AY B BT HRU el 22
Options :

1. ¢ fasim & ferg

2. % JdIE TRl DI M & forw

3. % el P BTS & forg

4. % TGl 9 A & forg

Question Number : 117 Question Id : 54062616822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The study of hair is known as

Options :

1. % Dermatology
2. ¥ Trichology
3. ¥ Horology

4. ¥ Onychology

Question Number : 117 Question Id : 54062616822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & S DI & A I ST AT 6 |
Options :

1. % efas

2. ¥ CIEDIalsl

3. % GRS




4. % 3fi-prailoll

Question Number : 118 Question Id : 54062616823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not a duty of a cosmetologist?
Options :

1. # removal of unwanted hair

2. # hair treatments

3. ¥ peeling

4. ¥ manicure/pedicure

Question Number : 118 Question Id : 54062616823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B T B HIHCIANNRE BT 51 52
Options :

1. % 38 STl B gl

2. % dfc] JUAR

3. ¢ il

4. % TIRIRUSIRIR

Question Number : 119 Question Id : 54062616824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In about 300 BC, hairstyling was introduced in Rome; women used hair color to indicate class: noblewomen tinted their hair , middle-
class colored their hair blond, and poor women colored their hair black.

Options :
1. # white
2. % red
3. ® purple
4. % green



Question Number : 119 Question Id : 54062616824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTHT 300 BC, A H IR TEFeT 1 Raid ol 75 of; Afgarsit 3 avf 1 1d 5 & forw aedl & 1 o1 SxdArd fopar: it Afgersit =
AUAFH Bl M, HEgH ¥ A YA STl ! ST YR 1M, SR TR Afganaft 7 30 S1a Bl dra 3|

Options :
1. % ghg
2. Ald
3. % ST
4. % Xl

Question Number : 120 Question Id : 54062616825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Skincare specialists are known as

Options :

1. # Dermatologist

2. # Beauty wellness expert
3. ¢ Estheticians

4. # Trichologist

Question Number : 120 Question Id : 54062616825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RpADHIR faRIoRH ! & U H ST S 6.
Options :

1. % ATaRIv

2. % & - URTAC

3. ¢ TRICREA

4. % CEDIANSRE
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Question Number : 121 Question Id : 54062616826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a key ingredient found in anti-ageing creams?
Options :



1. # Sulphates
2. ¥ Grape seed extract
3. % Formaldehyde

4. % Lavender

Question Number : 121 Question Id : 54062616826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad o 9 SH-91 U9 g § i US-TRSHT 1! & T oifal g7
Options :

1. % gelbe

2. ¢ U 4TS TRIcaT

3. % BiceslRs

4. % ddeX

Question Number : 122 Question Id : 54062616827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the best suitable moisturiser for oily/greasy skin type?
Options :

1. # Cetaphil moisturising cream

2. ¥ Neutrogena hydro boost gel cream

3. % Plum right years

4. % Cetaphil hydrating lotion

Question Number : 122 Question Id : 54062616827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i/t T & o Iad SUgad STEdHR B A1 §drgu?
Options :

1. % Yehd ARSI HIH




2. ¢ YIS BT89! X oid hiH
3. % WHIEC 3T
4. % YChd gIesicT dIRM

Question Number : 123 Question Id : 54062616828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cold cream is an Emulsion of

Options :

1. #® Oil and water

2. % Water and certain fats

3. # Essential oils and conditioner

4. % conditioning agent and shampoo

Question Number : 123 Question Id : 54062616828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PEPHH  HIUTIRI
Options :

1. % O 3R U

2. ¢ T 3R $@ Ty

3. % QR ddf SR HalR

4. % HISIYFT Tole 3R I

Question Number : 124 Question Id : 54062616829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a commonly used ingredient in sunscreen?
Options :

1. # Hard paraffin

2. % Acetone



3. % Vegetable oil
4. ¥ Titanium dioxide

Question Number : 124 Question Id : 54062616829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & I S 91 YuraRor § SHdR TR SUINT {61 o ardl ged g2
Options :

1. % BTS URIfth

2. % THICH

3. % gIUfd dd

4. ¥ CTECIIH SISHIRIES

Question Number : 125 Question Id : 54062616830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Colour theory principles first appeared in the theory of

Options :

1. ¥ Isaac Newton

2. ¥ Leonardo da Vinci

3. ® Leone Batista Alberti
4. # Plato

Question Number : 125 Question Id : 54062616830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 Rygid fad gl ugd o Rygid | Udbe gof|
Options :

1. ¥ 3ol e

2. % ferefiral o fa=i

3. % forg sfawar s




4. % el

Question Number : 126 Question Id : 54062616831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which shade absorbs all the colours?
Options :

1. # grey

2. # white

3. # beige

4. ¥ black

Question Number : 126 Question Id : 54062616831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B 1 8 T T BT IRE T 82
Options :

1. %9

2. % g

3. % o

4, & DIl

Question Number : 127 Question Id : 54062616832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mixing of any color with white is known as
Options :

1. # tones

2. # shades

3. ¥ tints

4. % Ampoule



Question Number : 127 Question Id : 54062616832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopft +ft 371 b1 b o Ty forer EISIGIG]
Options :

1. % €M

2. % Qg

3. ¢ HIHI

4. % YA

Question Number : 128 Question Id : 54062616833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Colours that are opposite to each other on a color wheel are known as
Options :

1. # Tertiary colours

2. % Triad colors

3. % Complimentary colours

4. % Tetradic colours

Question Number : 128 Question Id : 54062616833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

d TS T & Uiy IR T G¥R b 91 814 &, FEUT T AR e
Options :

1. % gD {1

2. % I

3. ¢ HRAHCT T

4, % <SP T



Question Number : 129 Question Id : 54062616834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Green tea is used in

Options :

1. # Moisturizers

2. % Anti ageing emulsion

3. # Sunscreen

4. % Conditioners

Question Number : 129 Question Id : 54062616834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& A BT IUART ¥ forar ST 5
Options :

1. % JTEHR

2. ¢ T TS 3HeRH

3. % YUrau

4. % HIITR

Question Number : 130 Question Id : 54062616835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The main use of glycolic acid is to

Options :

1. # lessen pimple marks

2. % prevent formation of blood clots
3. ® reduce redness from face

4. ¥ remove dead skin cells

Question Number : 130 Question Id : 54062616835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TS HITerd TR &1 T SUTRT ¥ fau grar g

Options :

1. % il & e o9 B 3

2. % G P YaD! & T3 Bl Abdl &
3. % g Y AU HH BT &

4. ¥ Td ] PRGN B geTdl 3

Question Number : 131 Question Id : 54062616836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not a benefit of Vetiver water?
Options :

1. #® hydrates skin

2. ® relieve stress

3. # reduce sting burns

4. ¥ produce fungus

Question Number : 131 Question Id : 54062616836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T1 afeaR Ul &1 aH Tl 82
Options :

1. ® T B gTgC Hdl o

2. % TId Y GTHRT AT &

3. % W DI Ol HH HRAl §
4.« T3 I Bl §

Question Number : 132 Question Id : 54062616837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T f&p HER IdIE &1 Td B gl
Options :

1. % TP 1Y B IRG A1 B! & HIAT §

2. % T BT T §ehl BT §

3. % TRIpIfede

4. ¢ TP PR A gEgC Hdl &

Question Number : 132 Question Id : 54062616837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The major work of an essence skin care product is to
Options :

1. # Protect skin like a barrier
2. % lighten the colour skin

3. # Exfoliate

4. ¥ Rehydrate the skin

Question Number : 133 Question Id : 54062616838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a commonly used as Organic solvent.
Options :
1. # Glycerine
2. % Glutathione
3. ¥ Butanol

4. % Bromine trifluoride

Question Number : 133 Question Id : 54062616838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR TR IYTNT 54T S aTel BT A gl

Options :



1. % TARERIA

2. % TR

3. ¢ gcHid

4. % ST TRHIRES

Question Number : 134 Question Id : 54062616839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Methylparaben is a/n ?

Options :

1. # Antibiotic

2. ¥ Antifungal

3. # Antibodies

4. % wax

Question Number : 134 Question Id : 54062616839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fruateT . @9

Options :

1. % yfaoifas
2. ¢ TRt
3. % gidfus
4. % 95

Question Number : 135 Question Id : 54062616840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Use of solvent in makeup is to

Options :

1. # Dissolve other ingredients



2. # To add pigments
3. ¥ To add lustre in the eye shadow

4. ® To make the consistency watery

Question Number : 135 Question Id : 54062616840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dpary & fadraes o1 Sudi & fe g g |
Options :

1. % 3 3{qydl DI Ul

2. % quies SiteA & fog

3. ¢ 315 S H IHG 1o & fag

4. % HRICH BT UM ST S & forg

Question Number : 136 Question Id : 54062616841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the ingredients from the following options are required for preparing wax at home?
Options :

1. ¥ Honey, sugarcane, Brown sugar

2. % Sugar only

3. # Water, Sugar, lemon

4. ® Only lemon, water

Question Number : 136 Question Id : 54062616841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed faswedl § 9 o F 9t TR IR 96 dUR 3 & [T 3a=ae &2
Options :

1. ¢ Req, T, 131 YR

2. % ohad Il




3. % O, = Al
4. % PHad g, UMl

Question Number : 137 Question Id : 54062616842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is not a lipid.

Options :

1. # Starch

2. % 0il

3. % Fat

4. ¥ Wax

Question Number : 137 Question Id : 54062616842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[BIESEGE

Options :

1. % H3

2. % dd

3. % 94l

4. J

Question Number : 138 Question Id : 54062616843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A standard recipe for a shaving cream contains approximately 8.2 percent acid, 3.7 percent triethanolamine,. 5 percent lanolin, 2
percent glycerine, 6 percent polyoxyethylene sorbitan monostearate, and 79.6 percent water.

Options :
1. # sulphuric
2. # formic

3. # acetic



4. ¥ stearic

Question Number : 138 Question Id : 54062616843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 1A F forw A TR H 14T 8.2 Ufawra 3T, 3.7 UFARId SISAATaHTRA, 5 Ufa=rd oo, 2 Ufaerd TeasiF, 6 fasrd
grefefiaiufe Tifsed ARReRe, 3R 79.6 Ufa=rd ol gidT g |

Options :

1. % T

2. ® BiH®

3. % URifes

4. ¢ LARSD

Question Number : 139 Question Id : 54062616844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who created the first depilatory cream?
Options :

1. * DR. Galen

2. % DR. D. Richard

3. ¥ DR. W.H. Geller

4. % DR. Gouraud

Question Number : 139 Question Id : 54062616844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ugell Sfudest o1 fohem 12
Options :

1. % ST e

2. % g1 31 =g

3. ¢ S ST, ek



4. % ET.TRIE

Question Number : 140 Question Id : 54062616845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name a famous celebrity who endorses a depilatory brand?
Options :

1. # Madhuri Dixit

2. # Shah Rukh Khan

3. % Katrina Kaif

4. # Disha Patani

Question Number : 140 Question Id : 54062616845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T URIG G &1 A1 913U Sl T SUdes! Sits &1 qudH &l 62

Options :
1. % iy diféa
2. % Qleed M
3. FETNFH
4. % fommuret
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Question Number : 141 Question Id : 54062616846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Abnormal hair loss is called

Options :

1. # Hyperbaldness

2. % Canities

3. % Alopecia

4. % Heurolipes

Question Number : 141 Question Id : 54062616846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T &b S B ERSIGI
Options :




1. * SfATSITO (BT3URETeS4)
2. % HRAAS

3. ¢ TS0 (TR

4. % gRIfere

Question Number : 142 Question Id : 54062616847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which essential oil is used for a relaxing bath?
Options :

1. ¥ lavender

2. % teatree

3. # ylang ylang

4, % turmeric

Question Number : 142 Question Id : 54062616847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTHCE FH & fo1U {5 area=ie ot T IUTNT fhar Sidr 82
Options :

1. ¢ ddsR

2. %

3. % ST S

4. % T

Question Number : 143 Question Id : 54062616848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the most used salt in bath?
Options :

1. ¥ Epsom salt



2. * Sea salt
3. * Fleur de sel
4. % Flake salt

Question Number : 143 Question Id : 54062616848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A H GaY SATGT SXATd [T S aTel T B 91 672
Options :

1. ¢ TEHH Fiee

2. % L THD

3. % TRIGY S 9

4. % TR HieT

Question Number : 144 Question Id : 54062616849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which essential oil can irritate your bath?
Options :

1. ¥ spearmint

2. % lavender

3. % ylang ylang

4. % tea tree

Question Number : 144 Question Id : 54062616849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T A=A A AT T & T T HR Ghal 872
Options :

1. ¢ WRfHe

2. % ddsT




3. % AT ST
4, 8% A

Question Number : 145 Question Id : 54062616850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used as a herbal medicine to cure intestinal worms? (Hint: It is known as Margosa Tree.)
Options :

1. ¥ Neem

2. % Ankol

3. % Tulsi

4. # Shatavari

Question Number : 145 Question Id : 54062616850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o ¥ foraet IUTI U & Hig &I 3 & & oIt gad adT & U T fordT SITdT 82 (JHT: 4 AR g&f & 19 § ST S g 1)
Options :

1. v Y

2. % 3fhld

3. % ol

4. % FATER]

Question Number : 146 Question Id : 54062616851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Common medicinal herb found in kitchen is
Options :

1. * Echinacea

2. ¥ Turmeric

3. ® Grapeseed



4. % Tea

Question Number : 146 Question Id : 54062616851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS 7 UTS S ael) 9T snweig oSt ot gl
Options :

1. % Ul

2. ¥ Bl

3. % YRilS

4. % ¢

Question Number : 147 Question Id : 54062616852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ginseng can help

Options :

1. ¥ lower blood sugar

2. % fight tiredness

3. % restore skin elasticity

4. % lower blood pressure

Question Number : 147 Question Id : 54062616852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o H Heg R Hdl gl
Options :

1. ¢ Iad Y63 HH HdT §

2. % YHH I ASdT g

3. % 91 BT qIaa- JARIOd HRar g
4. % JGAAY HH HIAT §




Question Number : 148 Question Id
Orientation : Vertical

: 54062616853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

The term used for the study of herbal medicine is

Options :

1. # Phytolacca

2. % Phytophthora

3. ¥ Phytopharmacy
4. ¥ Phytoremediation

Question Number : 148 Question Id
Orientation : Vertical

: 54062616853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

TSl geai A eI p AT S N Igad T Bl

Options :

1. % BI3cIcida]

2. % HIECIUIRT

3.  BIRCIHBIHY!
4. % HIZCRASTRA

Question Number : 149 Question Id
Orientation : Vertical

: 54062616854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Activated charcoal in any facial mask helps in

Options :

1. # Restoring skin longitivity
2. % Clarify skin of all dirts

3. # moisturising

4. # regain plumped skin

Question Number : 149 Question Id

: 54062616854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ft +ft R AR # 9iHRa (widea) TReIA H Heg FRar gl
Options :

1. % a1 B 3 GO =T

2. ¢ Ut TGt T &l Dl I DAl

3. % HIGERZST

4. % TR (QH) T DT G: YT DA

Question Number : 150 Question Id : 54062616855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given options which ingredient is found in night creams?
Options :

1. ¥ Shea butter

2. % Glycerin

3. ® Ceramide

4. % Lactic acid

Question Number : 150 Question Id : 54062616855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U ool & 9 TS BIF | DI AT dd YR SI1dT 82
Options :

1. ¢ e
2. % fore=a
3. % IXARS
4. % Qfdes RIS

Question Number : 151 Question Id : 54062616856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
is a general term for skin defect.

Options :

1. # Sores

2. ¥ Dermatoses

3. % Eczema

4. % Scab

Question Number : 151 Question Id : 54062616856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_ @913 & fuam v |
Options :

1. % Bl

2. ¢ JEINT

3. % UfoRTHT

4. % qUg

Question Number : 152 Question Id : 54062616857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What keeps the moisture of your hand intact?
Options :

1. ¥ Hand moisturizer

2. # Cold cream

3. % Sunscreen

4. % Face moisturiser

Question Number : 152 Question Id : 54062616857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI YD TTY BT TH SNBIR TG &2



Options :

1. ¥ 58 HISERISR
2. % PHIcs DY

3. % IAEDM

4. % Thy AISERISOR

Question Number : 153 Question Id : 54062616858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is the half moon that appears at the base of the nail.
Options :

1. ¥ Hyponychium

2. % Eponychium

3. ¥ lunula

4. % cuticle

Question Number : 153 Question Id : 54062616858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 B S g & Had T W foRarg Sar B
Options :

1. % gISUMI<raH
2. % QOHIH
3. Il

4. % Feal

Question Number : 154 Question Id : 54062616859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a tool used to exfoliate dead skin from sole of feet?
Options :



1. * sandstone
2. ¥ pumice stone
3. # Jade stone

4. % emerald stone

Question Number : 154 Question Id : 54062616859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI & dadl ¥ gd @d1 I g & o) FHfaRad o 9 SH 9 e &1 JanT fosar SIrdl g2

Options :

Question Number : 155 Question Id : 54062616860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which color corrector hides redness?
Options :

1. % orange

2. % yellow

3. ¥ green

4. ¥ purple

Question Number : 155 Question Id : 54062616860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I T GYRS AT b1 FUIAT 82
Options :

1. % IRt




Question Number : 156 Question Id : 54062616861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the option with the correct order.
Options :

1. # prime,set,prep

2. # set,prep,fix

3. % prep,prime,fix

4. % prep & set

Question Number : 156 Question Id : 54062616861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et pH & 1Y fapcd &1 Iggq B |
Options :

1. % ggH, 9, Ug
2. % e, Uy, fihey
3. ¢ U0, U, fhay
4. % U 3R Ic

Question Number : 157 Question Id : 54062616862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of translucent powder in makeup?
Options :

1. # It acts as a base

2. % Controls excessive oil from face



3. % Keeps your skin dewy all day long
4. ® Tt helps hides pimples

Question Number : 157 Question Id : 54062616862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dp3fY H RICRIc USSR HT 31 35 87
Options :

1. % TE 9T & =0 d Hrf 1§

2. ¢ IR Y AP dof ) PR dRar®
3. % 3B & Bl R a7 T9 @1 8

4. % Tg Gl Y fyu & Hag BT 8

Question Number : 158 Question Id : 54062616863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be used if you don’t have a setting powder in your vanity?
Options :

1. # Use 2 tone lighter compact

2. ¥ Use baby powder

3. # Leave your foundation as it is

4. ® Use setting spray

Question Number : 158 Question Id : 54062616863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 3ges! afrdt o [T Urdex 718t § df ford &1 IUaiT fomar o wavd 82
Options :

1. % 2 T Agex DIFaT BT YN HY

2. ¢ ddll UT3ER BT TN HY

3. % TN BRI B W@




4, % [T T BT AN

Question Number : 159 Question Id : 54062616864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which skin type should avoid loose powders?
Options :

1. ® oily skin

2. % combination skin

3. % dry/ flakey skin

4. ¥ mature skin

Question Number : 159 Question Id : 54062616864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhd UHR B a1 ! Il USSR ¥ F9+1 A1fgy?
Options :

1. % dofig &=

2. % fHyd @n

3. ¢ gt / IRAGR ol

4. % URYD Tl

Question Number : 160 Question Id : 54062616865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What's the trick to make lipstick last longer?

Options :

1. # by dabbing some MAC FIX+

2. ¥ by dabbing some loose powder through tissue paper
3. # applying a thin layer of clear gloss

4. % using only liquid lipstick



Question Number : 160 Question Id : 54062616865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forafes ) dd THg d% fehIu 31 & ol 1 R id 82
Options :

1. ® $B MAC FIX+ B! YUHT (S6) PP

2. ¢ RYUR & HIeTH ¥ $o ol T3S Bl YUY (S9)
3. % foReTOR Q19 &1 Udh Uddll URd oIl

4. % ohqd fafee faulRed &1 IugiT A1

Discipline4
Group Number : 9
Group Id : 540626596
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline4
Section Id : 540626776
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 540626934
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54062616866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Key ingredient found in lipstick which adds sheen to you lips is
Options :

1. % beeswax

2. # fish liver oil

3. % Guanine

4. % Carnauba wax

Question Number : 161 Question Id : 54062616866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferafiess o Urar S aTel TR Uew St 3% glo! | THe ardl §, 98 &
Options :

Question Number : 162 Question Id : 54062616867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How can we avoid creasing of eye makeup?

Options :

1. # by applying generous amount of eyeshadow all over the lid

2. ¥ using an eye primer



3. % using only matte eyeshadows

4. # apply only liquid eyeshadow

Question Number : 162 Question Id : 54062616867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SHRAT I AH MY BT BT A HY 59 qabdl 32
Options :

1. % T Uds IR Ui AETH STSe! T 9
2. ¢ TS TRHR HT ITANT IR &

3. % Had T SRS BT STANT IR &

4. % pad [l SMEYS! T PR b

Question Number : 163 Question Id : 54062616868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which eye makeup is suitable for monolid?
Options :

1. ¥ Smokey Eye

2. # wing liner

3. % double cut-crease

4. ® halo eyes

Question Number : 163 Question Id : 54062616868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AHIS & foIT ®1F 1 3118 AH U ITgad 82
Options :

1. I 3

2. % fqT AR

3. % S DHC-shiol




4. % gl 3id

Question Number : 164 Question Id : 54062616869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How to make almond eyes pop?

Options :

1. ® using kohl on upper/lower lash line
2. ¥ highlight the inner corner

3. % avoid mascara

4. ® wear only dark eyeshadows

Question Number : 164 Question Id : 54062616869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST S} 31l B IST HY FATE?

Options :

1. # SO/l A9 AR R BT BT WA IR B
2. ¢ WA B Pl I8 PR b

3. % TORIYdd &b

4. % $HIA ST ARASI TN BB

Question Number : 165 Question Id : 54062616870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A similar word for Cologne is

Options :

1. # Regent
2. ¥ Scent
3. % Balm

4. % Essential fragrances



Question Number : 165 Question Id : 54062616870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIeTH & fore THH Wea gl
Options :

1. % {oic

2. ¥ T

3. % dH

4, % qIORITS oY

Question Number : 166 Question Id : 54062616871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the shelf life of a deodorant?
Options :

1. # 2 months

2. % 2 weeks

3. % 3 years

4. # till the bottle lasts

Question Number : 166 Question Id : 54062616871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fE3MeRe FI A Sita T 52
Options :

1. % 2HgH

2. % 2 Yldlg

3.¢ 394

4. % qidd I dob




Question Number : 167 Question Id : 54062616872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Aasana doesn't help in reducing belly fat?
Options :

1. # Naukasana

2. % Bhujangasana

3. ¥ Vajrasana

4. % Kumbhakasana

Question Number : 167 Question Id : 54062616872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S T S U B! gall HH B H HGG -Ta! Rl o7
Options :

1. % prA

2. % YA

3. ¢ a9rgd

4. % HYBIEA

Question Number : 168 Question Id : 54062616873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is the best example for cardiovascular conditioning?
Options :

1. ¥ Swimming

2. % Heavy weight lifting

3. # Jumping

4. ¥ Planks

Question Number : 168 Question Id : 54062616873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HISAAGR DSIRITT & [eTT T 3BT IGTERVT I AT g2
Options :

1. ¢ QRIa!

2. % g4t 9c fafoe

3. % it

4. % WP

Question Number : 169 Question Id : 54062616874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is best for toned legs?
Options :

1. # planks

2. ¥ squats

3. % heavy weight lifting

4. # running

Question Number : 169 Question Id : 54062616874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

28 R (o1 9) & foe 316 4 I A1 98 &2
Options :

1. ® QH

2. ¥ WIe

3. # gdl 9e fafgen

4. % GIEAl

Question Number : 170 Question Id : 54062616875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Food that is to be avoided during gymming is

Options :

1. # kale

2. ¥ flaxseed
3. % honey

4. % banana

Question Number : 170 Question Id : 54062616875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foifET & SR o @ yard § sa1 a1fey, a8 gl
Options :

1. % ool

2. ¢ el

3. % ¥[ga

4. % ol

Question Number : 171 Question Id : 54062616876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How to appear slimmer without undergoing fine-needle aspiration?
Options :

1. # highlighting high points of your face

2. ¥ adding shadows with contour

3. % using only powder products

4. # using 2 tone darker foundation

Question Number : 171 Question Id : 54062616876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTe e TRIRRA & forT uden &3 fag?

Options :



1. % 30 IgY & I [ gl Dl gIEelisc ol
2. ¥ B & Y YS! SlIgT

3. % $Had UI38R IdIal Bl IUTNT HRA]

4. % 2 T TR T & BISSYH BT IYTNRT HAT

Question Number : 172 Question Id : 54062616877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 large egg white contains 4 gm of

Options :

1. #® Fat

2. % Cholesterol
3. ¥ Protein

4. ® Vitamin A

Question Number : 172 Question Id : 54062616877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 a@ 38 DI Yl H 4 gm HGIE
Options :

1. # 941

2. % Plaid

3. ¢ Ui

4, % faerfaq A

Question Number : 173 Question Id : 54062616878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the easiest face slimming method.
Options :

1. ¥ suck your cheeks for 5 mins



2. # chew gums
3. # yse derma rollers

4. ® skip your lunch and snacks

Question Number : 173 Question Id : 54062616878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3T <ig_T Rafti fafd &1 o 3|
Options :

1. ¢ 5 e & Q3o Tl 1 iR Wia
2. % TH T

3. % ST IR BT ITART HAT

4. % 309 QUG P HISH 3R AT 7 G

Question Number : 174 Question Id : 54062616879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Contour suitable for Square face person is

Options :

1. # Add shadows on cheekbones only

2. ¥ Add shadows on temple and jaw line
3. # Add shadows on cheekbones and nose

4. ® highlight only on temples of your face

Question Number : 174 Question Id : 54062616879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DR X aTe Afdd & AT ITGed B gl
Options :

1. % Had GHaT IR Ae] A

2. ¢ THIA 3R S8 IR RIS AT




3. % PHarg AR 76 R YS! MY
4. % HId AU A b A Pl BISATSCE B

Question Number : 175 Question Id : 54062616880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name a basic equipment required for a beginner makeup artist?
Options :

1. # 10 Eyeshadow palette

2. # blush ons of every shade

3. % 20 shades of foundation

4. ¥ brushes

Question Number : 175 Question Id : 54062616880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LI HB 3T SMTER & 1T 3TaRaeh HaHd IUHRUT B AH FAT
Options :

1. % 10 3ERIS! Uale

2. % G S & A 3

3. % BIGSTH B 20 TS

4. ¥ §R[

Question Number : 176 Question Id : 54062616881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Best suitable brush for full coverage of base is

Options :

1. % Buffing brush
2. % Stipling brush
3. ¥ Flat brush



4. # Air brush technique

Question Number : 176 Question Id : 54062616881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

quf Sl o & o e Sugad ST gl
Options :

1. % §fthTT &=

2. % it s

3. ¢ TRIC

4. % TR S dD-lb

Question Number : 177 Question Id : 54062616882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What brush do you need to create a simple smokey eye?
Options :

1. # big blending brush

2. % smudger brush

3. % pencil brush

4. % script liner

Question Number : 177 Question Id : 54062616882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IYRU W 3G FIH o feTT HTUp! ford 5121 Y A= el 52
Options :

1. % g3t QT (sAfST) s

2. % WHOR §X

3. % YRy omT

4. % f8pY AR



Question Number : 178 Question Id : 54062616883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is a work of a spoolie?

Options :

1. % Application of blush

2. % Application of nail enamel

3. ¥ Application of mascara

4. #% Removal of permanent nail lacquer

Question Number : 178 Question Id : 54062616883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl BT HTH T 52

Options :

1. # SR T

2. % A A9 T

3. ¢ HEDHRI BT TR

4. % R IRIT AE (A AP W) DI g1

Question Number : 179 Question Id : 54062616884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these helps in attaining glowy skin?
Options :

1. # oily foods

2. % chole bhature

3. % aloe vera juices

4. % red meat

Question Number : 179 Question Id : 54062616884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

20 Y DI JHB I &< U & HEE HRdT 82
Options :

1. % ddg HioH

2. % B UGY

3. ¢ Yd HHR] S (TAART TH)
4. % A HIY

Question Number : 180 Question Id : 54062616885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fruit should be prevented during weight loss?
Options :

1. ¥ banana

2. % avocado

3. # berries

4. % melons

Question Number : 180 Question Id : 54062616885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g e & aRM Fufafed & 9 f5y va I s anfew
Options :

1. ¢ el

2. % TAIbrel

3. % 10

4. % A
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Question Number : 181 Question Id : 54062616886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What causes food poisoning?

Options :

1. # frozen foods

2. % presence of micro-organisms

3. % packaged food

4. * foods rich in fibre



Question Number : 181 Question Id : 54062616886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fasTe fbd & SR g 82
Options :

1. % 9 gUTeg yard

2. ¢ g&a-Sitdl B SufRfd

3. % f&aa1 g YioH

4. % BRR Y NER I verd

Question Number : 182 Question Id : 54062616887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
therapy is extreme helpful for betterment of hair.
Options :
1. ¥ Keratin
2. % Smoothening
3. % Aqua wash
4. % Regular spa

Question Number : 182 Question Id : 54062616887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EIRICIICRRNICARIY Rt AP HgaD B
Options :

1. ¢ i

2. % WG

3. % U1

4. % fyafed



Question Number : 183 Question Id : 54062616888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Holistic Therapy treats the person.
Options :

1. * Mentally disabled

2. % Physically Disabled

3. % Whole person

4. % Spiritual

Question Number : 183 Question Id : 54062616888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gifcfes fafda e BT IR Bt & |
Options :

1. % HHRYD I

2. % YRIRS ©UY 318

3. ¢ Iqul safad

4. % 3f1eTfdD

Question Number : 184 Question Id : 54062616889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Non surgical neck lifting therapy is

Options :

1. # Ultrasound

2. ® Ultra rays passing
3. % Ultherapy

4. ¥ Botox for under eye

Question Number : 184 Question Id : 54062616889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
=i Aol e fafteT ot gl
Options :

1. % IR

2. % 3feg] {0l T ToRAT

3. ¢ IR

4. % 3fi@l & i & forT diciad

Question Number : 185 Question Id : 54062616890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faceliftisa  surgical procedure to appear younger.
Options :

1. % non

2. % fat removal

3. ¥ Cosmetic

4. # Skin lightening

Question Number : 185 Question Id : 54062616890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b gaifeaa s o s ufea gl
Options :

1. % R

2. % T geHI

3. ¢ BIFHICH

4. % f&p ArgciHT

Question Number : 186 Question Id : 54062616891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Facelifting is also known as a

Options :

1. # Gynecomastia
2. ¥ Rhytidectomy
3. ¥ Mammaplasty
4. # Lipoplasty

Question Number : 186 Question Id : 54062616891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
It &I & = H ff S S B
Options :

. % GeIais

2. ¢ giicedeHt

3. % AR

4, % YU

Question Number : 187 Question Id : 54062616892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T B BT B
Options :

1. ® P egefn

2. ¢ A fafteT

3. % fou Sile

4. % 3@l o +fid & forg dleiay

Question Number : 187 Question Id : 54062616892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Platysmaplasty is a surgery of



Options :

1. % Skin tightening
2. ¥ Neck lifting

3. % Lip job

4. ¥ Botox for under eye

Question Number : 188 Question Id : 54062616893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the surgical process meant to counteract effects of time on ageing.
Options :
1. % Liposuction
2. % Abdominoplasty
3. % Rhytidectomy
4. ® Rhytispreator

Question Number : 188 Question Id : 54062616893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T T+ IR YA & THTA BT UfABR B & ol D1 ST aTel Wed Ufhar g |

Options :
1. % gy

AON

2. ® TSI HAIR]
3. « YgifegaeHl
4. % YR

Question Number : 189 Question Id : 54062616894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can degrade a healthy nail?
Options :

1. # Usage of topcoat



2. % Doing regular manicure
3. ¥ Overuse of buffing

4. ¥ Using neon pigmented colours

Question Number : 189 Question Id : 54062616894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 &1 ORI TG &I BRIE B JhdT 82
Options :

1. % CIUBIC BT IUART BT

2. % FOfhd ANERIR BT

3. ¢ St &7 SHfd TN

4. % TG quies W BT SUTIT BT

Question Number : 190 Question Id : 54062616895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A woman with short fingers & hands should opt for which style of nail shape?
Options :

1. # Coffin

2. % Oval rounded

3. ¥ Diamond

4. # legumes

Question Number : 190 Question Id : 54062616895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTt It 3R g1 aTel AfRe &) TRGT & SHR BT DI Tl il BT g9 BT AMRT?
Options :

1. % Bt

2. ¥ JEMHR M




3. % BRI
4. % Wil

Question Number : 191 Question Id : 54062616896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Formaldehyde is used as

Options :

1. # Top coat

2. # Nail paint remover
3. ¥ Nail hardener

4. # nail growth booster

Question Number : 191 Question Id : 54062616896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHCEEISE &1 U & EUH frar ST gl
Options :

1. % 3R HIc

2. % 9d U RgaR

3. ¢ qAGRR

4. % A MY TR

Question Number : 192 Question Id : 54062616897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

People with skin type should prevent bleaching.
Options :

1. ¥ Sensitive/ prone to rash

2. # Mature Skin

3. # Dry skin



4. % combination skin

Question Number : 192 Question Id : 54062616897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR DI T dTed AN bl ST & ST 1R
Options :
1. ¥ Bt o fofu Yde=itel/AHrad
2. % ORUS &=
3. % Q[&h oddl
4, % foyd @=n

Question Number : 193 Question Id : 54062616898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bleaching is widely used to attempt to remove localised dark patches or as a fashion trend aiming to reduce normal in the skin.
Options :

1. # hair follicles

2. % Langerhans

3. % Keratinocytes

4. % melanin

Question Number : 193 Question Id : 54062616898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST BT AP T F R BT Hodl] bl g & WA I @l H G DI HH I & 320 Y BIHE Ugd & wu d
ST fHaT ST B |

Options :

1. % A HY

2. % ATRGY

3. % DRACADIRIDBIY




4. ¢ T

Question Number : 194 Question Id : 54062616899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which eyebrow shape is suitable for round face?
Options :

1. % Flat

2. ¥ S shaped

3. ¥ Rounded

4. % Hard angled

Question Number : 194 Question Id : 54062616899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A e P o1 I 1 Y 3MHR TG &2
Options :

1. % gHadd

2. ¥ S & TR BT

3. % T

4. % HOR HIUIY

Question Number : 195 Question Id : 54062616900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How long does a micro-blading last?
Options :

1. # Upto 6 years

2. % 12-18 months

3. ¥ 3 months

4, % 4 weeks



Question Number : 195 Question Id : 54062616900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qIsshl-siAfeT fordd gAY d% Ieldl 82
Options :

1. % ¢qu db

2. 12-18 U

3. % 3°gH

4. % 49918

Question Number : 196 Question Id : 54062616901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name a flat semi-precious stone used to massage face.
Options :

1. * Pumice stone

2. % Gua Sha stone

3. % Crimper

4. # Jade roller

Question Number : 196 Question Id : 54062616901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI AT B3 & forT IudIT fory & arel FuTe 3Hef-SHHaeh YRR &1 A Jd1s|
Options :

1. % GO guR

2. ¥ IS RMTUNR

3. % fprR

4. % SR



Question Number : 197 Question Id : 54062616902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Main objective of a jade roller is to

Options :

1. ¥ Lessen puffiness
2. % Hide pigmentation
3. ¥ Add sheen to Skin
4. % Lessen dark spots

Question Number : 197 Question Id : 54062616902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S AR HT I I gl
Options :

1. ¢ GO Bl HH B

2. % UM UM

3. % a1 H IHS STl

4. % DI Yy HH HRAT

Question Number : 198 Question Id : 54062616903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tweezers is mainly used to

Options :

1. ¥ Pluck Eyebrows
2. % Remove plaque
3. # Clear nail dirt

4. % Remove lashes

Question Number : 198 Question Id : 54062616903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

R T U ¥ & fore vt foran ST B
Options :

1. ¢ Y e

2. % Wl gl

3. % RgA Bi TG A HAT

4. % SR S

Question Number : 199 Question Id : 54062616904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Henna is a dye prepared from the plant , also known as the henna tree.
Options :

1. # Allium cepa
2. # Lactuca sativa
3. % Lawsonia inermis

4. ¥ Musa paradisicum

Question Number : 199 Question Id : 54062616904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hgdl U9 ¥ dUR B oI aTelt 15 3, o Agdl s & U # Wi ST Sar g |
Options :

1. % uferoy qu1

2. % qlagpl Afear

3. ¢ A= 3y

4. % TH WRISIR®HH

Question Number : 200 Question Id : 54062616905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The hardened skin at the sides of your nails is
Options :

1. ® Plaque

2. % Blemish

3. ® inappropriate

4. ¥ Overgrown cuticle

Question Number : 200 Question Id : 54062616905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TUP TRGAT & fTRY TR B3R e gl gl
Options :

1. ¥ ld

2. % QI

3. % ST

4. I



